Eric Casey

Latin Academy 2014

Greek Declensions, Tenses, Moods, and Other Mandatory Grammatical Fun!!

DAY ONE: &Aga Biita kai T& Aot (k.T.A.=etc.)
The alphabet, pronunciation, and accents will keep us busy for the first day!

A o alpha a (short: drama long: father)

B B beta b

ry gamma g (hard g: get)

A S delta d

E ¢ epsilon e (always short: get)

ZC zeta 7 (zd as in wisdom) (double consonant)
H n eta e (always long: gate)

© 6 theta th (theater)

| 1 iota i (short: bit long: meet)

K k kappa k

A A lambda 1

M u mu m

N v nu n

z ¢ xi x (ks as in tax, coax) (double consonant)
O o omicron o (always short as in top, hot)

T pi

Pp rho r (always with rough breathing at beginning of word)
>0 sigma s (s if last letter in a word)

T tau t

Y v upsilon u (short: put long: boot)

(OJN phi ph (pharmacy, philosophy)

X x chi ch (character, stomach, backhand)

Yy psi ps (apse, upset, flaps) (double consonant)
W w omega o (always long: total, Rome)

Recommendation: divide up the alphabet into groups and sing it to the tune of a song
you know! Also, did you notice that Zeta Eta Theta? I didn't even know Zeta was hungry.

Long and Short Vowels:
n w always LONG
e o always SHORT

a, 1, u either short or long

Diphthongs (8ipboyyos, ov with two sounds):
fun vocabulary item: dipBoyyiCeo write with a diphthong

al ai (aisle)

€l ei (neighbor, weight)
ol oi (toil)

ul wi (wit)

au au (how)



Eu e+u (quick glide from one to the other)
nv ntv
ov ou (soup)

Iota Subscript: (Make an iota of difference...become a lifetime iota subscriber! )
When the long vowels a, n, @ are combined with a short iota, the 1ota is written below the
long vowel (except in the case of capitalized vowels--  vs. Al).

Gamma Combined with another Palatal:
when a gamma is directly followed by another palatal (x, v, X, £), it gets nasalized and
pronounced as n or ng. Examples: &yyeAos, &ykupa, AdpuyE, ZeiyE, Ofuppuyxos

Breathing Marks (placed over initial vowels and diphthongs):

The rough breathing mark (* ) gives us the h sound at the beginning of words. The smooth
breathing mark (") simply indicates the lack of an initial 4 sound and is not pronounced at
all. The breathing mark appears to the left of capital letters but otherwise appears directly
above 1nitial vowels and over the second vowel of an nitial diphthong.

Syllables:
A Greek word has as many syllables as it has vowels and diphthongs (aU-Té-vo-pos)

Classification of Consonants:
This will be very helpful to you at various points in your Greek career (i.e. the rest of your
natural life!).

Labials ™ B P
Palatals K Y X
Dentals T > 6 (mnemonic: "the dentals")

Double Consonants: C, £, gy
A labial (11, B, @) in combination with o produces the double consonant .
A palatal (x, ¥, x) in combination with o produces the double consonant .

A BRIEF SUMMARY OF GREEK ACCENTING RULES

1. The grave accent (" ): The least complicated and flexible of the accents
-- appears over short vowels, long vowels, and diphthongs

-- only appears on the ultima

-- only serves to replace an acute accent when another word directly follows.

e.g. yuxn ayabn

2. The circumflex accent ( = ): Moderately complicated and flexible
-- only appears on long vowels or diphthongs
-- appears on the ultima or the penult
-- can only appear on the penult when the ultima is short
e.g. 8&pov but dcdopou

3. The acute accent ("): The most complicated and flexible of the accents
-- appears over short vowels, long vowels, and diphthongs
-- appears on the ultima, penult, and antepenult



-- can only appear on the antepenult when the ultima is short. e.g., &vBpcotos but
avBpcdTou

PERSISTENT AND RECESSIVE ACCENTING
Nouns and adjectives have given persistent accents which attempt to stay where they are,
and only move when forced by the rules for accenting. Often the quantity of the ultima
determines whether the accent must change or not, and so remember to check the
ultima. See the above example of &GvBpcotos in 3. Before moving to another syllable,
the accent will prefer to change into a different type of accent. See the above example of
8&pov in 2. Verbs have recessive accents which always try to go back as far as possible
while still respecting the rules for accenting.

PLACEMENT OF ACCENTS AND BREATHING MARKS
As with breathing marks, accents are only placed over vowels and diphthongs. In the case
of diphthongs, the accents and breathing marks appear over the second vowel (e.g.,
oUpavds, Abnvaiol). On occasion, a Greek word will have a word like 6ilUs where o and
t are adjacent but not functioning as a diphthong. You can tell by the placement of the
breathing mark (over first vowel) and by the mark of diairesis (looks like an umlaut) that
this is in fact a three-syllable word. Don't read anything into the fact that the sample word
happens to mean "woe, misery"! Greek accents are fun!

Vowel Quantities:

Remember that a, 1, u can be either short or long, while €, o are always short and n, w are
always long. Diphthongs are considered long for accenting with one exception:

--ot and aui are considered short for accenting if they are the very last letters of a
word (and so they are still long if any letter comes after them).

Examples: &vbpcotol but avBpcdtrors

NOTE: exception to the exception: in the optative mood, ot and at are considered
long for accenting (even though this is several days away in your Greek future, you can
already see how useful accents can be distinguishing forms).

FUN GAME: Find your own name in Greek! Here is mine: eiprikact (3rd pl. perfect
active indicative "they have spoken"). Some names are easy like péAicoa ("bee") but others
will mysteriously appear before you (e.g., uéyav masc. acc. sing. of adj. "great").



DAY TWO: The First and Second Declension Nouns, the Definite Articles and
Adjectives!!

FIRST DECLENSION (FEMININE)

Singular  (long o if stem ends in g, 1, p) Plural
Nom./Voc. -1 -a -al
Gen. -ns -ag -Qv
Dat. -n -Q -alg
Acc. -nv -av -ag

Note: there are some additional variations on the singular endings for the first-declension
nouns but the plural endings are always the same: (say them with me!) a1, v, aug, as.
Note as well that the acc. pl. -as has a long alpha (cf. 3rd declension acc. pl. -as with a
short alpha).

Note: throughout Greek, the vocative plural is identical with the nominative plural (while

the vocative singular occasionally differs from the nominative singular). I have only
written out the vocative singular forms when they differ from the nominative.

Note: ALL Greek nouns ending in -1, -ns are feminine.

Note: I have put a circumflex on the gen. pl. ending because that is a fixed accent for all

first declension nouns (reflects a contraction from -&cov or -écov to -cdv).

Examples:
Singular Plural Singular Plural Singular Plural
TEXVN TéXVQAL Xwpa Xwpal yuxn yuxai
TEXVNS TEXVV Xwpas XWPWV WYUXTis YUxV
TEXVT) TEXVALS XWpQ Xpais puxi puxais
TEXVNV TEXVAS Xwpav Xwpas yuxmv Yuxas
FIRST DECLENSION (MASCULINE)

Singular  (long o if stem ends in g, 1, p) Plural
Nom. -ns -ag -al
Gen. -ou -ou -V
Dat. -n -Q -alg
Acc. -nv -av -ag
Voc. -, -M -a -al

In this variation on the first declension, nouns ending in -njs, -ou (or -as, -ou) are

masculine.

Note: the vocative singular is different from the nominative singular in this type of noun.
Most of the time, this type of noun uses -a for the vocative sing. (short a in ng, ou nouns;
long a in as, ou nouns) but some words have -n. Contrast this with the feminine first-
declension nouns ending in -1, -ns (or -a, -as) where the nom. and voc. singular are
always the same (and so not listed separately).

Examples:
Singular Plural Singular Plural Singular Plural
TToAlTNS ToAlTal OIS o Tai veaviag veavial
ToAiTou TOAITGV TToimTOoU TOIM TV veaviou VEQUICOV
ToAiTn ToAiTals TOIMTH ToImTals veavia veavialg
TOAITNV ToAiTas TOIM TNV oI TAas veaviav veaviag
ToAITa TomTAa veavia



Note: the nom. sing. and accus. plural are exactly the same for veavias. quam gelidum!

Final Variations on the First Declension Singular Forms!
Examples: 8dAatTa, ng, 1 sea  poipa, as, 17 fate

Nom. -a faAaTTa polpa
Gen. -1 BaA&TTns poipas
Dat. - BaAdTTn poipa
Acc. -av fdAatTav potpav

Note: the alphas in the nom. and acc. for these words are short and so we have a mix of
short and long vowels in the endings for this variation on the first declension. You could
think of 6&AaTtTa as an "eta sandwich" with short (alpha) bread. You can tell the alpha is
short on the nom. and acc. by the accents. When at the Grammar Café, be sure to order a
beverage as it is always fun to bring the latte to 8aA&TTH).

Accent Reminder: remember that the acute accent can only be on the antepenult if the
ultima is short and similarly the circumflex can only be on the penult if the ultima is short.
The general principle is that the accent can only appear on its furthest perch if the ultima
is short. That final syllable is really the ultimate decider!

Note: I have not listed the plural forms because they are the same as all first declension
plural endings: -a1, -cdv, -ais, -as.

Note: As always, you can identify the particular version of the first declension (as with
any declension in Greek or Latin) by the nom. and gen. singular. This is why any self-
respecting Greek lexicon will list both. As we'll see soon, the gen. sing. is also helpful to
know as it provides an accurate glimpse of the root of the noun (spoiler alert: you need to
know the gen. sing. for the third declension as the nom. is often misleading!).

SECOND DECLENSION (MOSTLY MASCULINE)
Singular Plural

Nom. -0§ -ol
Gen. -ou -V
Dat. - -ol§
Acc. -ov -ous
Voc. -€

Note: most nouns with these endings are masculine but there are a small number of
feminine ones and the definite article will be the way to tell (and any adjectives agreeing
with those nouns, of course). Examples of feminine nouns: 1) 684s path; 1) vijoos island
Mnemonic Alert: the accusative plural can be thought of as the akousative!

Examples:
Singular Plural Singular Plural
Nom. &vbpwmos  &vbpwmor  &BeApds adeAgol
Gen. avBpcdmou  avBpdmwv  adeAgol adeApddov
Dat. &vbpome  avbpodmols  &BeApd adeAgols
Acc.  &vbpwmov  avbpcdmous  aBeApdv adeAgous
Voc.  &vbBpeotre &dehpe

Note: The vocative for the second declension is -€ which should be a friendly form for
Latin students (-e as in Marce).



Charming Accenting Quirk: the voc. sing. of &8eA@ds is irregular and an exception
to the accenting rules. Charming, n'est-ce pas? The vocative plurals in second-declension
nouns are always the same as the nom. plurals and so I have not listed them separately.

SECOND DECLENSION (NEUTER)
Singular Plural

Nom./Voc. -ov -a
Gen. -ov -V
Dat. - -ol§
Acc. -ov -a

Note: the genitive and dative endings are the same as for the 2nd declension masc./fem
nouns. Fun Game: compare the endings of the second declension! that's the whole game!

Examples:
Singular Plural Singular Plural
Nom. dcdpov dddpa gpyov gpya
Gen. dcopou dcopwv gpyou Epywv
Dat. dwopw dcopols Epyw gpyols
Acc. dcdpov dddpa gpyov gpya

Note: the nom. and acc. for all Greek neuter words match in their endings. So, 8épov is
either nom. or acc. sing. (or voc.), and 8&pa is either nom. or acc. pl. (or voc.). The
vocative is always the same as the nominative in second-declension neuter nouns and so I
have not listed it separately.

Seriously Cool Grammatical Quirk: in a largely successful effort to be charming,
Greek neuter plural subjects take singular verbs!!!

Accenting Note: for all first and second declension nouns, when a noun has an acute
accent on the ultima in the nom. sing., the accent changes to a circumflex in the genitive
and dative (both singular and plural). This is just a charming quirk of the language and a
minor departure from the otherwise mostly consistent accenting rules you have already
learned. You probably already noticed this bit of Greek awesomeness in the paradigms
above but here again is an example of this pattern: Wuxrj, Wuxris, Wuxi, Yuxnv, yuxai,
YuxV, yuxals, yuxdas. Here is another: adeAgds, adeApol, aBeA@@, aBeAgdv, K.T.A.
As you will see below, this same accenting shift in gen./dat. cases occurs also in the definite
article.

BASIG CASE USES
You will be pleased to learn that many of the basic case uses you learned in Latin are the
same in Greek. The subject goes into the nominative case while the direct object goes into
the accusative (unless it is a verb that happens to govern a different case). The genitive is
used commonly for possession--you can think of it as the genitOF (as the genitive
corresponds to many uses of the English word "of™). The dative is used for the indirect
object and more generally for reference just as it is in Latin. Since Greek doesn't have an
ablative case, those uses (separation, accompaniment, etc.) are spread out over the Greek
genitive and dative cases. As with Latin, certain types of verbs will govern particular cases
For instance, verbs of ruling, beginning, touching, grasping, remembering, and forgetting
all take their objects in the genitive case. Verbs meaning to please, trust, benefit, advise all
take the dative case. I will keep you apprised of the basic case uses as we go along



(particularly those that differ from Latin). In case you were worried, there are plenty of
case uses to learn as you will see! As Grammar Detectives you are always on the case!

THE DEFINITE ARTICLE

Masculine Feminine Neuter
Nom. sg. o n TO
Gen. TOU ™S TOU
Dat. TR auyl TR
Acc. TOV ™mv TO
Nom. pl. oi ai TG
Gen. TGOV TGOV TGOV
Dat. TOIS Tals TOIS
Acc. ToUs TA&S TG

First, take a moment to congratulate yourself on learning a language where the definite
article declines and has gender! This is definitely the coolest part of the day...

Proclitic Alert: The masc. and fem. nom. (both sing. and pl.) are lacking both the initial
T common to the other forms and they are also lacking an accent. They are examples of a
small class of words known as proclitics. Another common proclitic is the negating adverb
ou, ouk, oux. These are to be distinguished from the charming class of words known as
enclitics (i.e. words which sometimes have an accent depending on the word preceding
them) which we will tackle a bit later.

Accenting Note: as mentioned above, the gen. and dat. (both sing. and pl.) have a
circumflex accent just as we saw with first and second declension nouns naturally accented
with an accent on the ultima.

Iota Subscript Alert: note the iota subscript in the dat. sing. forms!
Mnemonic Fun: for music fans, you can think of the gen. pl. as a Greek tri-teov. The
dative singular sounds like "potato" and could be called the definite "starchicle."

USES OF THE DEFINITE ARTICLE:
The definite article will most immediately be extremely helpful in telling you the gender of
a noun (not always obvious from the noun forms themselves). You will soon feel grateful
for the existence of the Greek definite article and you may even start to wonder why Latin
doesn't have such a useful form. You will also be relieved to hear that the definite article
has a wide array of uses and is generally more flexible than the English definite article
("the"). Don't stress too much about this right now as these uses will become more familiar
to you over time, but I thought it would be helpful to give you a list of common uses for
the definite article:
--for a particular individual and a generic class (only context can distinguish those uses).
--for abstract nouns (1] &peTr} "excellence") or substantives (TO &y abdv "the good")
--for proper names (6 TTA&Twv, 6 ZwKPA&TNS)
--for the sense of a possessive adjective (6 Adyos his/her speech--depending on context)
although Greek does have specific possessive adjectives as well (you will come to see that
the Greeks seem to have a word for almost anything and everything! Greek has a
charmingly immense vocabulary and includes the following: admodevdpdopat "be turned
into a tree"; kakodaipovdaw "be tormented by an evil genius/spirit" k.T.A.).



Note: the definite article is often omitted for the name of a unique or very well known
thing (e.g., év &yopd "in the marketplace"). More generally, you will come to see that the
Greeks often felt free to include or omit the definite article. There are some instances
where the presence or absence of an article really matters and is vital to the meaning, but
often the article just seems to drift in and out of sentences like a nice summer breeze (i.e.
pleasant but not always necessary).

In the examples below, take note of how similar the endings of the definite article are to
the first and second declension noun endings. The definite article is particularly useful for
nouns like 17 6865 as most second declension nouns in -og are masculine (as noted above).

Historical Note: As we'll see when reading brief selections from Homer in the last day
or two, the definite article used to have a wider range of uses and could be used as a
personal pronoun, demonstrative, or even a relative pronoun! quam gelidum!

Nom. sg. 6 Aéyos T Xoopa 1 6845
Gen. ToU Adyou THS XwWpas Ths 60U
Dat. T Ay TN Xwpa TN 608G
Acc. TOV Adyov TNV Xwpav MV 636V
Voc. sg. Aoye o8¢
Nom./Voc. pl. oi Adéyot ai x&pat ai odoi
Gen. TGOV Adywv TV XWPQV TGOV 08V
Dat. Tols Adyols Tals xwpails Tais odols
Acc. Tous Adyous TAS XWPAS Tas 6doUs

Note: the definite article does not have any vocative forms (I know--it's sad--I may write
an article about it for the local grammar news--or should that be v’s?).

Reminder of who your friends are: the definite article is definitely your friend and
will never lead you astray as to the gender of a given noun, and so even though you might
be tempted to think that 68g is masculine based on the endings, the definite article makes
it absolutely (even deﬁnitive]y) clear that the word is in fact feminine. No matter what
charming noun forms you may encounter in the future, these definite article forms will
always be the same.

ADJECTIVES OF THE FIRST AND SECOND DECLENSIONS
These adjectives use the same endings as the first and second declensions listed above and
they modify nouns (or stand alone as substantives) just as you would expect. Note that the
accenting quirk of the first declension nouns (-6v in gen. pl.) does not apply to the
adjectives. However, the rule about first and second declension words naturally accented
on the ultima (i.e. their accents shifting from acute to circumflex in the gen. and dat. sing.
and pl.) does still apply.

A Good Example (see what I did there?):

Masculine Feminine Neuter
Nom. sg. ayabos ayadn ayabdv
Gen. ayabol ayabfis ayabou
Dat. ayabdd ayabi) ayabdd
Acc. ayabdv ayabrjv ayabdv
Voc. ayabé
Nom./Voc. pl. ayabol ayabai ayaba



Gen. ayabdov ayabdov ayabdov

Dat. ayabofs ayabais ayabofs

Acc. ayabous ayabas ayaba

Note: the forms for the masc. acc. sg. and neut. pl. nom./acc. are all the same.

ATTRIBUTIVE AND PREDICATE POSITION
If there is a definite article directly in front of an adjective (which itself agrees with a
noun), then that adjective is said to be in the attributive position. If there is no article
directly in front of the adjective, then that adjective is said to be in the predicate position. If
you have a noun (with or without an article) and an adjective in the attributive position,
then that unit is a phrase and not a complete sentence (provided, of course, that they agree
in case). Conversely, if you have a noun and an adjective agreeing in case but without an
article in front of the adjective, that is a complete sentence. Such a sentence can be called a
nominal sentence or an instance of the predicate nominative construction.

Examples:
O &yabos &Gvbpwos the good man (a phrase with the adj. in attributive position)
6 &Gvbpwtos O &y abds the good man (a phrase with the adj. in attributive position)
avbpwtos 6 ayabds the good man (a phrase with the adj. in attributive position)
6 &Gvbpwos ayabds. the man is good (a complete sentence with adj. in pred. pos.)
ayabos 6 &vbpcotros. the man is good (a complete sentence with adj. in pred. pos.)

Note: the article before the noun is not critical and can be omitted. The article before the
adjective is critical and makes the difference between the attributive and predicate position.
Greek can also have a nominal sentence with two nouns. The one with the article is the
subject and the other noun is the predicate. The Greeks can omit the article and if there is
no article, then context would determine which is subject and which is predicate.

Two More Examples:
6 RiBAiov Scdpov. the book is a gift (complete sentence)
6 RiBAiov 16 &dyabdv the good book (just a phrase, not a complete sentence)

Note: the article in front of the adjective confirms that the adjective directly modifies the
noun. You could call that article "semantic glue" in that it is tying together the adjective
and noun as a unit.

Usage Note: Greek occasionally equates two things that match in case but not in gender.
Consider the following Greek proverb: Bios xaAemdv (life is a difficult thing).

Usage Note: Greek can put a variety of things into the attributive position beyond an
adjective and the idea is to indicate a close connection among the words.

Here is an example of an adverb placed in between the article and noun:

ol Té1e &vbpcotor "the men of then" (the people of that time)

Vocab: téTe adv. then (they used to sell ToTe bags in the Grammar Cafe)

Here is an example of a possessive genitive placed in between an article and a noun:
T ToU dvbpcdomou BiBAiov the book of the man (= the man's book)

Here are two examples of a prepositional phrase in the attributive position:
O év &yopd &vbpwTos the man in the marketplace



6 &vbpcoTos 6 v ayopd the man in the marketplace (lit. "the man, that is, the one in the
marketplace")

The Greeks enjoy creating elaborate frames with multiple words in the attributive position.
Consider this example from Plato:

T& yap Tiis TGV ToAA&Y Yuxiis Suuata "the eyes of the soul of the many”

Note how the outermost article belongs with the outermost noun and you start there and
work your way into the middle of the phrase (and so Tfjs goes with Wuxfis and of course
TV goes with ToAAGV). By the way, that last phrase is commonly used in the nominative
case in English: the hoi polloi (which to Greek fans sounds like "the the many").

Fun Game: create your own elaborate Greek phrase consisting of a nested group of
words and using the vocabulary you know thus far!

Common Use of the Adjective: the Substantive!

As Latin students and English speakers, you are already conversant with the idea of an
adjective standing alone as a noun. Greek uses these quite frequently as well (as you
probably noticed with the quotation from Plato above). Here are some examples:

ol ayaboi the good men (or "the good ones" or "the good people")
N ayabr) the good woman
Ta kakda the bad things

A Bit of Colloquial Greek to Brighten Any Day...including today!

Many of the following come from lines in ancient comedy (esp. Menander) and you can
find them in C. Luschnig's Introduction to Ancient Greek (very good Greek textbook):
xaipe (pl. xaipete) hello, greetings, farewell

Kal oU, xaipe greetings to you as well

Ti vecdTepov; what's new? (lit. "what is newer/rather new?")

Ti éoT1 Kawdv; what's new? (cf. quid novi?)

oudtv kawdTepov nothing (newer)

TS €xels; how are you? €xw + adv. = a state of being

Ti mp&TTels; how are you? (lit. "what are you doing?" cf. quid agis?)

KaAcds éxw T am well

Kakas éxw [ am now well; [ am ill

ToAAOOTED Xpdve Opdd oe. long time, no see

Ti m&oxels, @ @ile; what's wrong, my friend? (lit. "what are you suffering, my friend?")
Ti yap 6 ZeUs Trolel; how's the weather? (lit. "for what is Zeus doing?")

Uel 6 Beds kai BpovTd. It's raining and thundering

Ad&umet 6 fjAiog the sun is shining.

TMvika éoTiv Tis NUépas; what time of day is it?

HIKPOV T1 HeTa peonuPBpiav. a little after noon

u& Ala (exclamation) by Zeus!

HOW TO BE ON THE GREEK STREETS: present and imperfect of eiui
Greek often omits forms of the verb "to be" (as you have undoubtedly seen in other
languages including English and Latin) but it is obviously useful to know this particular
verb. Asin any language I have ever encountered, this verb is irregular and so just learn it
as it is. Technically, it is in the relatively small class of -l verbs but it is really its own little
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world. There is just one set of forms each for the present and imperfect as there isn't any
real active or passive voice for the verb "to be." This verb is also mostly enclitic in the
present tense (all but the 2nd sing.) which is why the accents look a bit surprising (we'll talk
more about enclitics soon enough)...I wanted to introduce this to you so that you could
write your own sentences, especially those predicate nominatives where you equate two
things (e.g., Zoe is amazing).

PRESENT indicative IMPERFECT
1 sg. el n/ fv
2 el noba
3 goTi(v) 15\
1 pl. EOUEY TIUEV
goTé nTE
3 gloi(v) noav

Present Infinitive: elvai

Accenting Note: the accents on the imperfect are consistently a circumflex on the
penult (and use this as a nice review of the requirements for a circumflex to appear there).
As mentioned above, the present forms are enclitic (except for the 2nd sing.) and so rely on
the accent of the preceding word. For the sake of the paradigm, I followed convention and
put the acute accent on the ultima. Out there on the Greek streets, the forms will appear
either without any accent or with an accent on the ultima (as in the chart).

Note: For now, don't worry about the enclitic accenting rules and just be ready to see
these forms with or without an accent.

DAY THREE: Some Verbal Fun and a Few New Relatives to Meet!

Even though Greek has only known you briefly, today it will tell you many things about
itself. It is time to contemplate the occasionally intense world of Greek verbs and we will
start with the present, imperfect, and future tenses. The present and imperfect use the
same stem and are called the present system and they are represented by the first principal
part. The endings, however, are different and the imperfect uses syllabic or temporal
augment to indicate past time. Greek has the perfect number of principal parts (6 as
opposed to Latin's 4--1 know you have been disappointed in your heart of hearts by how
few there are in Latin!) and you will learn three of them today (on day 3...coincidence? for
those curious, it absolutely is a coincidence!).

PRESENT ACTIVE INDICATIVE

Singular Plural Singular Plural
1 - -OUEV AVw AUopev
2 -€15 -ETE AVeig AUeTe
3 -€l -ouoli(v) AUel Avouci(v)
present active infinitive: -€tv AUewv

Add the present stem directly to these endings and you have a present active indicative!
This 1s the first of six glorious principal parts and it is used to indicate what both the
present and imperfect tenses will look like.

11



The third plural ending has a movable v that is used at the end of a sentence or if the next

word begins with a vowel. The parentheses indicate that the v is movable and only present
in those situations. The v at the end of the first-plural ending is NOT movable and so will

always be present regardless of what follows that verb form. It is important to notice when
a final v is movable or not. They will appear in a number of verb tenses as you will see!

SYLLABIC AND TEMPORAL AUGMENTS
The augment will be used on all past tenses of the indicative mood and here are the two
basic formats:

Syllabic Augment: If the verb begins with a consonant, then the augment is an epsilon
added to the front of the verb (present AYco "I free” vs. imperfect éAuov "I was freeing”).

Temporal Augment: If the verb begins with a vowel or diphthong, then the initial
vowel lengthens:

a--)n al--)

E-) 1N EL--) M)

o--)w olL--) W

present imperfect aorist

apxw Irule npxov I was ruling npEa I ruled
ayw Ilead nNyov [ wasleading fyayov I led
¢0éAco 1 wish ffeAov I was wishing noéAnoa I wished

Exception: the imperfect of €xco (I have) is eixov (I used to have)

Note: the augment is only used on past indicative verb forms and you can have great fun
learning and repeating the following chant (which can be set to many a melody): You
Only Augment the Indicative! There are three other moods in Greek (subjunctive,
optative, and imperative) and they use tense to convey aspect (basically how you view the
action of the verb--whether as a simple action, a progressive/repeated action, or a
completed action). Don't worry about that for now as that is so Day Five!

IMPERFECT ACTIVE INDICATIVE (for repeated or habitual actions in the past)

Singular Plural Singular Plural
1 -ov -OMEV g¢A\uov g¢AUopev
2 -€G -ETE €Aueg EAVeTE
3 -e(v) -ov éAve(v) é€A\uov

Notes: only the v in the third singular is movable and so the final v on the first sing., first
plural, and third plural endings will always be present. Note also that the 1st sing. and 3rd
pl. endings are identical. There is no infinitive for the imperfect tense.

Note: technically these are the theme vowel €/0 plus the endings, but for now you can
just treat them together as "endings." We will talk more about theme vowels on Day 5!!!
Note: you should think of -pev and -Te (1st and 2nd plural active endings) as your friends
as they show up frequently in the active (and even in some passive endings).

Here is an example of an imperfect active indicative that uses the temporal augment:
Singular Plural
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1 nyov fiyouev
2 NYEs fyeTe
3 nye(v) nyov

Formula: augment + present stem + endings e.g., € + Au + ov = €Avov "I was
freeing/destroying” or "I used to free/destroy."

FUTURE ACTIVE INDICATIVE
The future active indicative uses the second principal part (which usually features a sigma)
and the same exact endings as the present active indicative! You will notice that the stem of
the future often looks very similar to the present but with the presence of an exciting
sigma. If the verb stem ends in a vowel, it is quite straightforward as you can see below
with the example of AUoco. If the verb stem ends in a consonant, then things get a bit more
charming and you need to know what kind of consonant you are dealing with and recall
those principles from Day One:
Alabial (1, B, ¢) in combination with o produces the double consonant .
Apalatal (k, ¥, X) in combination with o produces the double consonant €.
A dental (T, 8, 8) will typically drop when preceded by a o (the dental drop!) and the

same is true for verbs whose stem ends with C (e.g., vouileo, voud).

Examples:

Vowel Stem Labial Stem Palatal Stem Dental Stem

Ao, Ao free Tépme, mépwew send &y, &Ecwo lead  Teibo, Teiow persuade
Isg. Avow TEUYW &€ Teiow
2 AUoelg TIEUPELS aEels Treioels
3 AUoel TIEUEL aget Teioel
Ipl.  AVYoopev TIEUYOUEV aEouev Telcouev
2 AUoeTe TEUWETE agete TeloeTe
3 AUoovuoi(v)  mépyouoi(v) &Eovuoi(v) Treicovuot(v)
Infin: AUoew TEUWELY agew Teioew

Note: The future active infinitive ending is the same as the present: -ewv.

FIRST AORIST ACTIVE INDICATIVE (sigmatic aorist)
The aorist indicative is the third principal part and is used for simple and often single past
actions. There are two forms of the aorist tense and verbs generally have either a first
aorist or a second aorist. There is NO difference in meaning between these two. When
confronted with two charming ways to form an aorist, the Greeks made the sensible
decision to use both of them! The first aorist typically has a sigma and is sometimes called
the sigmatic aorist. The types of stems we saw in the future tense are unsurprisingly also
important for the first aorist. Let's start with the endings and AUco as a sample as it is our
favorite vowel stem.

ENDINGS VOWEL STEM!
Singular Plural Singular Plural
1 -a -aUEV g¢\voca ¢AUoapev
2 -ag -aTE g€A\voag ¢EAVoaTe
3 -e(v) -av géA\uoe(v) ¢\vcav

infinitive: -ai
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Note: The ending for the first aorist active infinitive is -at as in AGoau "to free/destroy."
Remember that -ot and -au at the very end of a word is considered short (hence the
circumflex on the penult!

Mnemonic Alert: when reviewing the first aorist endings, think "a for aorist" as most
of the endings have an alpha prominently displayed.

Note: the process of forming the augment for the aorist tense is the same as it was for the
imperfect.

CONSONANT STEMS!

The same categories we saw for the future are back for the aorist!
Labial Stem Palatal Stem Dental Stem
TEUTTC apxw meibo

lsg. Emepya fpEa Emeloa

2 ETERYQS npEas gmeloas

3 gmepye(v) npe&e(v) ¢meioe(v)

1 pl. éméupapev np&auev ¢meioauev

2 EMEUYaTE fpEaTe gmeioaTe

3 Emepyav fip€av gmeloav

infin. Téppat apEat Teloal

Note: as you know, the infinitive is a verbal noun and so has no mood. As you only
augment indicative verbs, infinitives are NEVER augmented. That is why &pEat does not
begin with an eta.

LIQUID AND NASAL AORISTS!
For this final type of first aorist, the expected sigma disappears and the vowel in the aorist
root is compensated for the loss of its friend. If that sounds overly dramatic, blame the
linguists who call this process compensatory lengthening. For liquid roots, there is a
further bit of drama in that one of the lambdas disappears along with the sigma and I
often wonder if they ran off together! The vowel in the root typically lengthens from € to
gl or from a to 1.

LIQUID AORIST NASAL AORIST
ayyéAAw announce Héveo remain, wait (for)

1 sg. fyyelha Euewa

2 fyyelhas Euewas

3 fyyehe(v) Euewe(v)

1 pl. Ny yeilauev Eueivapev

2 Nyyeilate EneivaTe

3 fyyehav guewav

aor. act. infin. &yyeiAai HETVaL

Note: remember that the infinitive is a verbal noun and so is not technically part

SECOND AORIST ACTIVE INDICATIVE (same endings as imperfect)
As mentioned above, the second aorist 1s used for simple or single actions in the past and
does not differ in meaning from the first aorist (and most verbs have either a first or second
aorist although a small number of verbs have both). This version of the aorist active
indicative is distinguished by an (often shortened) aorist stem and the same endings you
used for the imperfect.
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The formula for constructing the second aorist active indicative is just as you would
expect: augment + aorist stem + endings e.g., € + A + ov = éArrov " left"

Singular  Plural Singular Plural
1 -ov -OUEV gA\tTTov ¢AiTropev
2 -€S -€TE ENITTES gAiTreTE
3 -e(v) -ov E\tre(v) g¢\iTTov
Infinitive: -eiv (fixed accent) ALTTETY

Note: as with the imperfect, you can clearly see the €/o theme vowel in the endings for
the 2nd aorist. Technically, the endings are just -v, -5, --, -pev, -T€, -v but that is hard to
chant, don't you think?! At this point, it is fine to combine the theme vowel and ending
and think of them casually as the "endings."

DISTINGUISHING THE IMPERFECT AND SECOND AORIST
Given the overlap of forms in the imperfect and second aorist, it is obviously critical that
you pay close attention to the stem. The stems for the first and third principal part can be
quite similar and vary by just a letter or two, but they are never identical. For instance,
consider the imperfect and aorist of Aeimeo ("leave"): EAerrov "I was leaving” vs. éArov "1
left." Have I convinced you yet of the value of learning principal parts in Greek? When
out on the Greek streets, you might be able to make educated guesses about this or that
verb you meet, but you will be on much safer ground if you learn principal parts as you go
along. Besides, it's fun! The imperfect and aorist are both past tenses but describe different
types of action. The imperfect is for repeated or habitual past actions while the aorist
describes a simple or single action. Consider the following English examples:

"I used to run alongside the cliff." (would use imperfect in Greek)
"One day I fell off that cliff." (presumably a one-time action and so aorist would be used)

You make these distinctions yourself every day as a native English speaker and as a Latin
student (or really whenever you learn almost any language). They can be important
distinctions. Unless you happen to be immortal, you probably won't find yourself uttering
the following sentence: "I used to fall off the cliff."

RELATIVE PRONOUNS
Masculine Feminine Neuter
Nom. sg. Ss M e}
Gen. oU 1S ovU
Dat. @ n @
Acc. ov nv o
Nom. pl. ol ol &
Gen. Qv Qv Qv
Dat. ofg afs ofg
Acc. oug ag a

Formula: most forms resemble the definite article except that the initial T is gone and
there is a rough breathing at the front of EVERY form. The nom. masc. and fem. (both
sing. and pl.) look much like the definite article but here you get both breathing marks
AND accents (e.g., ot "the" vs. of "who"; 1} "the" vs. fj "who")

Circumflex Alert: note the circumflex accent on all gen. and dat. forms.
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Matching Case Reminder: as always in Greek (as in Latin), the neuter nom. and acc.
forms match.

Fun Game: draw arrows between the neut. nom. sing. and acc. and for another round of
that same game, draw arrows connecting the neut. pl. nom. and acc. quam gelidum!!
Another Fun Game: write out the forms of the definite article right next to the forms of
the relative pronoun and marvel at the similarities and differences. mirabile visu, right?!?
Usage: As Latin students, you are already familiar with how relative clauses work and
Greek won't provide many surprises here. Remember that (as in Latin) the gender and the
number of the relative pronoun match the antecedent but the case has NOTHING to do
with the antecedent. The case of the relative pronoun is entirely dependent on how it
functions within the relative clause. If it is the subject of the relative clause, then the
relative pronoun will be in the nominative case. If the relative pronoun functions as the
direct object in the relative clause, then it will unsurprisingly be in the accusative case, etc.

DAY FOUR: A Little Bit of This and That...Demonstratives PLUS the
Third Declension!
Today we will start with the familiar category of demonstratives (this, that), and then after
a brief visit with two-termination adjectives, we will start surveying the grammarscape of
the wondrous third declension. The good news is that Greek only has three declensions
and the bad news...well, there really isn't any bad news to report about Greek, of course!

DEMONSTRATIVES
As you know, demonstratives serve to point out or emphasize the word with which they
agree. For something near (spatially or temporally) or just mentioned in a conversation,
Greek tends to use oUTtos, aUTtn, ToUTo (cf. hic, haec, hoc) and it is translated as either
"this" or "that" or "the latter" (when referring to the last thing mentioned). It generally
refers to something that has already been mentioned. ékeivos, ekeivn, ékeilvo means "that"
or can mean "the former" when referring to something a bit more distant spatially,
temporally or in the discourse (cf. ille, 1lla, illud). 58¢, B¢, TO6Be means "this (here)" and as
it can refer to something in the near future (or in close proximity), you can sometimes
translate it as "the following." The demonstratives are quite easy to form and mostly use
the now familiar first and second declension endings you have seen already in nouns and
adjectives above. There are a few quirks and you should learn them immediately as these
words are used quite frequently. Imagine a language without demonstratives---that would
be hard to do! When memorizing these, I recommend going across the paradigm as that
seems easier and you get reinforcement on how similar the masculine and neuter forms
are. There are no vocative forms for any of the demonstratives.

ouTos, auTn, ToUTo this, that, the latter (cf. hic, haec, hoc)

Masculine Feminine Neuter
Nom. sg. oUTOoS a’Tn ToUTO
Gen. ToUToUu auTns TouTou
Dat. TOUTW auTT) TOUTW
Acc. ToUTOV auTtnv ToUTO
Nom. pl. ovUTol alTal TalTa
Gen. TOUTWV ToUTwV ToUTwWV
Dat. ToUTOIlS TavTalg ToUTOIlS
Acc. ToUTOouS Tavtag Talta
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Note: as you can see, the forms are mostly normal first and second declension endings
with the exception of the neuter nom. and acc. singulars (which are lacking the expected
final v). There is a minor additional wrinkle in that there are a few unexpected diphthongs:
the feminine forms mostly have av except for the gen. plural in ou, while the neuter forms
mostly have ou except for the nom. and acc. plurals in au. The masculine forms are
perfectly consistent in having ou throughout the singular and plural.

Note: the presence or absence of an initial T on these forms matches that of the definite
article. quam gelidum! Fun Game: write the definite article and these forms side by side!
Note: as usual, the neuter nom. and acc. forms are identical and so you might want to
exercise your artistic creativity by drawing lines between the nom. and acc. singulars as
well as the nom. and acc. plurals.

gkelvos, ekeivn, ékeivo that, the former (cf. ille, illa, illud)

Masculine
Nom. sg. EKETVOS
Gen. gkeivou
Dat. EKEIVE
Acc. EKETVOV
Nom. pl. gkelvol
Gen. gKelveov
Dat. gkeivolg
Acc. gkeivous

Feminine
EKElVN
EKElvNS
EKElv)
EKElvNV

gkelval
gKelveov
gkelvaig
gkelvas

Neuter
EKETVO
ékeivou
EKEIVW
EKETVO

gkelva
EKElVLOV
gkelvols
gkelva

Note: as with the forms of oUTos, the neuter nom. sing. and pl. are missing the final v.
Compare this missing final v to the neuter sing. nom./acc. of the definite article and the
relative pronoun (16, 8). Otherwise, the forms have regular first and second declension
endings just like the adjective &yaBds, ayabn), ayabov.

Note: as with the forms of oUTog, the gen. plural forms are the same in all three genders.

Masculine
Nom. sg. Od¢
Gen. Toude
Dat. TGO
Acc. TSVSE
Nom. pl. oide
Gen. TOVSE
Dat. Tolode
Acc. Tovode

08¢, 118¢, TOBE this

Feminine
1O¢
Thode
Tiide
Trjvde

aide
TOVSE
Talode
T&ode

Neuter
TAOE
Toude
TGO
TAOE

TA&Se
TOVSE
Tolode
TA&Se

Note: this demonstrative is quite straightforward as it has the exact same forms as the
definite article plus the enclitic particle -de. How easy is this?

Usage Note for the Demonstratives:
The demonstratives represent something of an exception to the way we distinguish
attributive from predicate position. The demonstratives mostly appear in the predicate
position and will precede the noun they are modifying. They do on rare occasions follow
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the noun but don't worry about that for now. Demonstratives will be translated,
however, as if they were in the attributive position. Here are a few examples:
EKeTvos O avBpwmos that man

TOBe TO Bddpov this gift

oUTos 6 kUeov this dog

All of these examples are phrases and not complete sentences. The demonstrative in each
example is functioning like an attributive adjective even though it is technically in the
predicate position. If you wanted to make a nominal sentence (predicate nominative) with
a demonstrative, you could write something like this:

oUTOoS 6 KUV ayadds éoTwv. This dog is good. &yabds is the predicate adjective and
oUTos 6 kUeov functions together as the subject.

Like any adjective, the demonstrative can be used alone as a substantive. Here is an
example: AUopev ékeivous. "We are freeing/ destroying those people.”

TWO-TERMINATION ADJECTIVES
You will see that starting on Day 4, there are a few adjectives in the vocabulary lists with
only two nominative singular forms (-os, -ov). These are known as two-termination
adjectives and they have one set of forms for both the masculine and feminine, and
another set of similar forms for the neuter. They use the second-declension forms you
already know. These are not difficult but you need to be ready to see these adjectives
modifying feminine nouns. Remember that an adjective must match its noun in gender,
number, and case, but they need not have the same exact endings in terms of the same
exact letters. Consider these examples:

6 &dikos &vBpwtos the unjust man  (adj. &dikos, ov unjust)
n aBavatos yuxr the immortal soul (adj. &B&vaTtos, ov immortal)

Note: Many of these adjectives begin with an alpha privative (cf. English amoral) and so
you can use that as a way to recognize and recall them.

Example: &dikos, &8ikov unjust

Masc./Fem. Neuter
Nom. sg. adikos adikov
Gen. adikou adikou
Dat. adikw adikw
Acc. &dikov &dikov
Voc. &dike
Nom. pl. adikol adika
Gen. adikwv adikwv
Dat. adikolg adikolg
Acc. adikous &dika

Note on Repeating Forms: as you undoubtedly noticed with the masculine and
neuter forms for the regular adjective &yaBds, 1, ov, the genitives and datives are the
same. As you can see above, the M-I forms have distinct nom. and acc. forms while the
neuter nominatives and accusatives match each other as always. Be particularly wary of
the form ending in -ov as it can be three possible forms (masc./fem. acc. sing., neut. nom.
and acc. sing.).
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THE THIRD DECLENSION!!!
It is hard to believe that we are already at the third and final declension for nouns and
adjectives. The good news is that the third declension in Greek is definitely the most
charming of the three declensions due to the large number of variations on the basic
endings. I don't expect you to memorize instantly all of the following types of third-
declension nouns and adjectives and so I have provided some of these paradigms as a
handy reference for you to keep with you as you explore the Greek streets through the
homework sentences. There is nothing conceptually challenging about the third declension
and once you learn the basic set of endings, you won't have much trouble recognizing
most of the forms.

Note on Gender in Third Declension Nouns: unlike most first and second
declension nouns, the gender of third declension nouns is much more variable and
unpredictable and so you should pay close attention to the definite article out there on the
Greek streets and even here in the safer pages of this textbook. Always try to learn the
gender of third declension nouns as part of your vocabulary-strengthening daily exercise.

Finding the Stem!
In all three declensions, the stem of the noun is found by taking the ending away from the
GENITIVE SINGULAR. I have not emphasized this thus far since the nominatives and
genitives have been so friendly and similar in the first two declensions. As you will see, the
nominative singular in the third declension is often a bit different from the rest of the
forms, and so it is not a reliable indicator of what the stem is. Despite the variability of the
nominative singular, there are consistent patterns for third declension noun types and the
following paradigms will provide a guide to many exciting words you will encounter in
your lifetime of Greek reading!

BASIC THIRD DECLENSION ENDINGS
Masc./Fem. Neuter

Nom. sg. --- (oftens)  ---
Gen. -0§ -0§
Dat. -l -l
Acc. -q, -v -
Voc. -—-

Nom./Voc. pl. -€S -a
Gen. -V -V
Dat. -o1(v) -o1(v)
Acc. -as (short a) -«

Note: the nominative (and voc.) singulars are so variable that Greek textbooks often do
not even give a single ending in the third declension chart for the masc./fem. nom.
singular (and the vocative sing. is quite variable as well). The masc.-fem. nom. sing.
ending is frequently a sigma but it sometimes combines with a palatal (k, y, x) at the end
of the stem and creates a final § (e.g., vUE, vukTds, 1) night--see day 5 vocab list). This is
not so strange when you recall that § is really ks and so think of it as a disguised or
undercover sigma (great idea for a movie!). Similarly, the double consonant y is 15 and so
a nominative like kAcoy is another instance where the nom. sing. ends in sigma but is a bit
disguised by the way Greek combines 1§ into . Take note of all the exciting 3rd decl.
nom. sing. forms as you read! Fun Game: what I just said! keep track of those nom. forms!
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Note: the masc./fem. accusative singular is most commonly an a with consonant bases
but in certain situations it is a v. For those interested, if a dental comes after an
unaccented iota or upsilon, then the dental drops and the ending becomes v (e.g., for the
word &pvis, &pviBos the accusative is not *épviBa but rather dpviv).

Another Fun Game: compare the Greek third declension endings with those of Latin.

Third declension nouns have vowel and consonant stems (referring to the final letter in the
stem) and we will start with some vowel stems. I would advise that you start by learning
these sample third declension nouns by chanting them aloud to another and together you
will all notice the important and common sound changes as you go from one paradigm to
the next. It is easy to get a bit lost in the linguistic details with the third declension but
really you just need to be able to recognize those charming nouns out there on the Greek
streets and that is much easier than knowing the exact reasons for a given quirky form. By
all means, learn those details if that helps you but for many students, it is easiest to
memorize the patterns and they will be reinforced naturally as your vocabulary develops.

THIRD DECLENSION VOWEL STEM (-eus)

Singular Plural
Nom. BaoiAevs BaoiAeis/PaactAiis
Gen. BaoiAéws BaoiAéwv
Dat. BaotAel BaoiAetol(v)
Acc. Baoihéa Baoiéas
Voc. BaotAel

Note: the genitive singular form was originally BaoiAfjos and you will see this form soon
in Homer. A charming linguistic process known as quantitative metathesis occurred
whereby the quantity of vowels shifted and nog changed to ecs. The 1 shortened to € and
the o lengthened to w. quam gelidum!

Note: BaotAfis was more common until the 4th century BCE but you will see both nom.
pl. forms and there is no difference in their meaning.

Common Greek words that use this pattern: iepeus (priest), imrmeUs (horseman)

MORE THIRD DECLENSION VOWEL STEMS!

A, 1 city &oTu, Té town

Sing. Pl Sing. Pl
Nom. TOAIS TOAEels oty &otn
Gen. TOAECOS TéAECOV doTews doTewv
Dat. TOAEeL méAeci(v) doTel &oteoi(v)
Acc. TOAW TAels dotu dotn
Voc. TOAL

Note: note that the nom. and acc. pl. are the same (and so watch for the definite article or
an adjective for clarification on the case).

Note: the accent on the genitive singulars appears to violate our cherished accenting rules
but there is a reason! The Greeks are accenting these words as if they had their original
genitive form with the short ultima (-nos). With the original short ultima, the natural
accent on the antepenult for these words would be retained (as you can see in Homer who
uses those original forms éAnos and &otnos). The genitive plurals seem to be following
the accenting of the gen. singulars (a kind of assimilation or attraction).

Note: on the nom./acc. plural form &oTn the n is a contraction of € +a and so it is just a
slightly disguised form of the familiar neuter plural ending -a. Undercover Alpha!

20



CONSONANT STEMS!
You will recall these types of consonants from our fun forays into the future and aorist
tenses: labials (1, B, @), palatals (k, y, x), and the dentals (1, 8, 8). Here are some
examples of consonant stems and you should label them by type of consonant!

thief (m.)  guard (m.) goat (m/f.) hope (f.) ruler (m.)

Nom. sg. kAcoy PUAaE aif eATris EpxwV
Gen. kKAwTds  @UAakos  aiyds gEATIiSos  &pxovTos
Dat. KAcoTri pUAaKI aiyf eEATTIdL &PXOVTI
Acc. KA@Ta  guAaka  aiya eEATTi®a &pxovTa
Voc. eATri

Nom. pl. kAédmes  @UAakes  aiyes EATTIOES &pxovTES
Gen. KAWTGY  puAdKwv  aiydov eEATTidov  apxdvTwv
Dat. kKAwyi(v) @UAali(v) aifi(v) gAtrio(v)  &pxovoi(v)
Acc. kKAdmas  @UAakas  alyas eEATIBas  &pxovTas

Note on the Shifting Accent in Gen. and Dat. (I know you are curious!):
monosyllabic stems put their accents in the genitives and datives on the ultima (for both
singular and plural). Again, this is not critical but it might help to know there is a method
to the pavia. You can just check the gen. sing. to see how many syllables the stem has (and
don't count the case ending -og in your count).

Note on the dative plurals: the dative plural shows the same changes we saw in the
future and aorist tenses when a sigma is added to various types of consonant stems. Those
sigmas combine with the labials and palatals and create those charming double consonants
y and §. Remember that dentals drop before sigmas and that is how you get éAtris and
gAtriol(v) (and not *¢ATiBs or *¢ATiSor). In the case of &pxovot, first of all be careful not
to confuse this with a present 3rd pl. verb form (as always, context is an &y afos @ilos)!
To get to that charming diphthong ou, the dental unsurprisingly dropped before the -1
ending and in an extra twist, the v dropped as well. Being left a little bereft, the lonely o is
compensated for the loss of its friends and is lengthened to the diphthong ov. It is another
instance of compensatory lengthening.

Spoiler Alert: &pxwv, &pxovTos is technically a substantive use of the present active
("the ruling one") participle and so we will return to this set of forms when we discuss
participles on Day 7.

AFEW COMMON NEUTER THIRD DECLENSION NOUN TYPES!

bvoua, To, name, fame Yévos, T, race, family, kind, class
Singular Plural Singular Plural

Nom. sg. dvoua ovépaTa Yévog Yévn

Gen. OVoHaTos OVOUATWY  YEVOUs YEVGOV

Dat. ovouaTl ovéuaoct(v)  yével yéveou(v)

Acc. dvoua ovopaTa Yévog Yévn

Fun Fact: Greek is pretty particular about which consonants can end a word and in fact
there are only 3 that qualify as possible for the final letter: v, p, 5. So, if you have a neuter
dental noun such as évoua or cdua (body), the dental at the end of the stem and you are
left with the short and snappy nom/acc sing. ending in -a.

Dropping Intervocalic Sigma Alert: the root of yévos can be glimpsed in the
genitive (as is always the case with the third declension as you now know). Originally, the
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root was yeveo- and when the gen. sing. ending -os was added to that stem, the
intervocalic sigma drops as it often does in Greek. So, *y€vecos changes to yéveos and
since Attic loves to contract wherever it can, e+o0 becomes ou (a common contraction we
will see again soon!). That is how we end up with yévous. Similar transformations explain
several of the forms in this word (e.g., dat. sing. *y€veot )) yével after the sigma dropped).
Note: the nom./acc. plural yévn is a product of the same contraction we saw above with
&otn (e+a=n).

A FAMILY OF THIRD DECLENSION NOUN TYPES
The following close-knit group of nouns all have moments of syncopation where an
expected epsilon drops in the genitive singulars and in all the datives (sg. and pl.). Note
also the dative plurals all end in -aoi(v). Isn't that acime?! A delta goes missing in the
nom. and voc. singular forms of avrp but otherwise it fits right in with these other words.

mother father daughter man
Nom. sg. TP TaTHP BuyaTtnp avrp
Gen. uNTPSS TaTpos BuyaTpods avdpds
Dat. unTpl TaTpl BuyaTpl avdpi
Acc. UNTépa TaTépa BuyaTépa avdpa
Voc. U TEP T&TEP BuyaTep avep
Nom. pl. UNTEPES TATEPES BuyaTépes &vdpes
Gen. UNTEéPLOV TATEPWV BuyaTépwv avdpdov
Dat. untpdo(v) matpdow(v) Buyatpdoi(v) avdpdaoi(v)
Acc. uNTépasg TaTépas BuyaTépag avdpas

ONE LAST GROUP OF THIRD DECLENSION NOUN TYPES!
woman (f.)  speaker (m.) bird (m/f) ox, cow (m/f)

Nom. sg. yuvij prTwp Spvig Bots

Gen. Yuvaikos priTopos Spwibog Bods

Dat. Yuvaiki priTopt Spvib Bot

Acc. yuvaika priTopa Spviv Bolv

Voc. Yuval priTop Spt Bou

Nom. pl. YUvaikes prITopEs Spvibeg Bodes

Gen. YUvaikev pNTépwV opvibcov Bodv

Dat. yuvaigi(v)  pritopoi(v)  Spvici(v) Bouci(v) [ep. Béeool]
Acc. Yuvaikas priTopasg Spwvibag Bots

Digamma Alert: the original form of BoUs had a digamma (Béfos cf. bos, bovis) and as
a result that dative singular is not a diphthong. The diacritical over the iota indicates what
we call diairesis (literally a "separation") and tells you to pronounce the two vowels
separately (and to count them as two separate syllables for the purposes of scanning). The
digamma dropped out of Greek early but you can see lingering evidence of it in Homer as
we will see soon! You can also see it in Latin words such as video (EF18ov--eldov--video) or
vinum (Foivos--o{vos--vinum--wine).

Rare Focus on the Vocative: you can often see the bare root in 3rd declension
vocatives (i.e. without any lengthening of vowels or pesky extra consonants).

A FEW SINGULAR THIRD DECLENSION NOUNS!
persuasion (f.) Z.eus one M F N
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Nom. Telfeo Zeus el uia Ev

Gen. TelboUs Aids Evos  wds  Evog
Dat. mebol Aii evi m&  évi
Acc. Teiboo Ala fva  uiav v
Voc. Tebol ZeU

Singular Only Alert: these words are only attested in the singular mostly for obvious
reasons. There is only one Zeus after all and the number 1 has only singular forms.

THIRD DECLENSION ADJECTIVES
You will probably be sad to learn that there are not nearly as many common variations for
the third-declension adjective. You will learn three common types here and just rest
assured that, as with the noun types above, there are many many examples of all of these
(and so learn one and you know them all!). One of them is a kind of hybrid and uses first-
declension endings in the feminine forms. The other two are two-termination and so have
no separate feminine endings. Haven't I told you that Greek will always be your friend?!

&An6ris, és true eUudaiuwv, ov fortunate,happy

Masc./Fem. Neuter Masc./Fem. Neuter
Nom. sg. &An6rjs A&An6és gudaiucov gudaipov
Gen. aAn6ots aAn6ots eudaipovos  eUdaipovos
Dat. AANOeT AANOeT eudaiuowt eudaiuowt
Acc. aAno7 AAn0és eudaiyova  eUBaipov
Voc. A&An6és AAn6és gudaipov eUdaiuov
Nom. pl. AAnBels aAn67 eudaiuoves  eUdaipova
Gen. AAnbcov aAnbcov gudaipdvwov  eudaipudveov
Dat. aAnbéoi(v)  &Anbéoi(v)  eudaiupooi(v) eUdaiuooci(v)
Acc. AANOeTs aAno7 eudaiuovas  eUdaipova

Overlapping noun/adj. Alert: there is an obviously related noun daiucov, Saipovog
6/1 "divine being" and it uses the exact same endings as the masc./fem. adjective.
Dative Plural Note: the v in the root drops before the sigma in the ending (sense a
pattern?) and that is why the dative plural is ebdaipoot(v).

Accenting Note: the accent on Greek adjectives is taken from the neuter nom. sing. but
given the accenting rules, that sometimes is not possible (as you know, Greek words are
never accented further back than the antepenult).

Intervocalic Sigma Alert: the genitive singular was originally &An6écos but the
intervocalic sigma dropped and €o contracted to the diphthong ou. There 1s a similar
explanation for the acc. sing. M/F. The original form was &Anféoa and after the
intervocalic sigma dropped, the vowels € and a contracted and produced the 1 ending. We
will do more with vowel contractions on day 7 with the awesome contract verbs!

Note: the nom. and acc. plural forms are identical both for the M/F and for the neuter.

THIRD TYPE OF THIRD-DECLENSION ADJECTIVES (note mix of declensions!)
EUPVUS, Ela, U broad, wide

Masculine Feminine Neuter
Nom. sg. EUpUS eUpela EUpPU
Gen. EUpEOs eupelag EUPEOS
Dat. EUPET EUpEiQ EUPET
Acc. EUPUV gUpelav EUpPU
Voc. Eupy eUpela EUpPU
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Nom. pl. EUPETS eUpeial EUPEQ
Gen. EUpPELOV EUPEICOV EUpPELOV
Dat. eupéor(v) gUpeiais eupéor(v)
Acc. EUPETS EUpeias EUPEQ
TWO very COMMON and MILDLY IRREGULAR ADJECTIVES (that mix all 3
declensions)
TOoAUs, ToAAR, TOAU much; pl. many
Masculine Feminine Neuter
Nom. sg. TOAUS TOoAAT TOAU
Gen. ToAAOU ToAATS ToAAOU
Dat. TOAAGD ToAAT TOAAGD
Acc. TOAUV TOAARV TOAU
Nom. pl. ToAAoi ToAAai TOoAA&
Gen. ToAAGV ToAAGV ToAAGV
Dat. TToAAOTS TToAAais TToAAOTS
Acc. TToAAoUs TOAA&S TOAA&

Note: this adjective mixes second and third declension endings in the masculine and
neuter singular but it uses first declension endings throughout the feminine. The plural
forms are declined exactly like the ordinary adjective &y abdgs, 1}, 6v.

Cultural Note: oi moAAoi is the origin of the common expression "the hoi polloi." Tt is
a term used to describe the masses or the majority of people (usually pejorative in tone). As
Greek students, you can see that it is a bit repetitive ("the the many") but obviously many
people don't realize that hoi is itself the definite article. ah, when will the oi ToAAoi ever
learn?!

néyas, ueydAn, péya big, great

Masculine Feminine Neuter
Nom. sg. Héyas HEY GAN Héya
Gen. Hey &Aou HEY &ANg Hey&Aou
Dat. HEYAA HEYAAT HEYAA
Acc. Héyav HEYAANV Héya
Voc. HeY aAe
Nom. pl. Hey&Aol Hey &Aat HEYGAa
Gen. HEY GAcov HEY GAcov HEY GAcov
Dat. HeyaAotg Hey&Aais Hey&Aolg
Acc. HEYdAous  peydAas HEYGAa

Note: as with the previous adjective, the only charming variations come in the singular
masculine and neuter forms (same forms that were a bit charming in ToAUs, ToAAr,
oAU above). The plurals are exactly like the plurals for &dyafds, 1, 6v. The feminine
forms all have regular first declension endings.

DAY FIVE: A Quick Trip to Subjunctive and Optative Land!!!
As you know from Latin, the indicative is the mood for describing what was, is, and will be
the case. While you indicate with the indicative, the subjunctive and optative moods are
used for what would, could, may, might, should be the case out there in the world. It is
about the hypotheticals, the expression of hopes, fears, etc. The sign of the subjunctive is a
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lengthened theme vowel (e/0 --) /). That means that the endings for the present and
aorist active subjunctive will all have n or o (remember that you can see the regular theme
vowels very clearly in the imperfect and second aorist indicative). As a result, the
subjunctive is very easy to form. Some of the iotas become iota subscripts but otherwise,
they are very familiar endings. We will be dealing with the present and aorist subjunctive
as those are by far the most common tenses you will see on the Greek streets. Similarly for
the optative, we will focus on the present and aorist optative (as the future optative is rare
and mostly used in a type of indirect statement). Latin grammar fans may be disappointed
to learn that there is no imperfect subjunctive or optative in Greek. There is also no future
subjunctive in Greek (or in Latin as you know). Some indicative and subjunctive verb
forms will be identical and in those instances, you will rely on context to distinguish. The
only difference between the present and aorist active subjunctive will be the stem and so
pay very close attention to the stem and which principal part it comes from. As Isaid, you
really only have to worry about either the present or aorist stem as those are the only tenses
that occur with any frequency.

Here are the present and aorist active subjunctive forms for AUc. As I said above, note
how the iota in the 2nd and 3rd person singular have become iota subscripts. The ou in
the 3rd plural becomes an omega, and while that is not entirely obvious, the other forms
are all clear and predictable. The subjunctive is really not difficult to form! You're
welcome, Greek wants me to say to you. The first and second aorist subjunctive are
formed in exactly the same way with the exact same endings and it is really just a matter of
noticing whether the stem is present or aorist. Here are the present and aorist active
subjunctive forms for AUco and the second aorist active subjunctive for Aeimreo (leave).

present stem: Au- aorist stem: Avo- aorist stem: AuTr-
Present Act. Sub;. Ist Aorist Act. Subj.  2nd Aorist Act. Subj
lsg. AVw AVow Aitreo
2 Auns Auons Al
3 Aun Avon Aimm
Ipl.  AVcopev AUcwuEY AlTreouey
AunTe AUonTe AltnTe
3 AVwoi(v) AUowot(v) Aimreoot(v)

Tense and Aspect: Remember that you only augment the indicative and so the
subjunctive will never have an augment (and neither will optatives, imperatives, infinitives,
or participles). It makes sense as the subjunctive generally looks ahead to the future. Tense
outside the indicative mood generally shows aspect and not time, and so it is a difference
between progressive/repeated actions (present) and simple one-time actions (aorist).

THREE INDEPENDENT USES OF THE SUBJUNCTIVE

Reminder: tense shows aspect (simple vs. repeated) and not time in these uses.
1. Prohibitive: prj + 2nd person aorist subjunctive (stronger than an imperative)
ur) (TS Kok TEPl TAV MIKPAOY Kuvédy Don't say bad things about small dogs!
2. Hortatory: aka the "Salad Subjunctive" as it is usually translated "let us..."

--Ist person (usually pl. but can be sing.) expressing exhortation and is negated with urj
--can be either present or aorist
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Aéycopev ayaba Tept TEW HIKPGY Kuvddv Let us say good things about small dogs.

3. Deliberative: 1st person present or aorist used in a question when deliberating about a
course of action

viv yap @épwpey Ta ddpa T Zwij; For should we bring gifts to Zoe now?

THE OPTATIVE: It's all you could wish for!!!
As Latin students, you are used to thinking of the optative as a use of the subjunctive.
Greek makes the optative an entire mood and not just a subset of the subjunctive. Just as
There are two independent uses for the optative (wish and potential) and we will briefly
look at them below. Today we focus on the distinct uses of the subjunctive and optative
but we will learn on Day 6 how purpose clauses use both moods with no distinction in
meaning (the moods indicate a difference in sequence just as Latin does with tenses of the
subjunctive). Forming the optative is a bit more involved than the subjunctive but not
difficult and the optative has the advantage of looking pretty distinctive and stylishly
different. We will focus on the present and aorist optative but will take a brief glance at the
future optative (only used in a few specific contexts).

Formation of the Optative: to form the present and 2nd aorist (and future) optative
for most types of verbs, take the appropriate stem and add the endings o, ots, o1, otuev,
oite, otev. We will see briefly below and more in depth on Day 7 another set of endings for
the optative that are used for a few specific classes of verbs (including the verb "to be" and
the present tense only of the charming contract verbs) for now luxuriate in this lovely set of
forms and don't worry about that other set of endings. As you can see below in the sample
verbs, the only differences from tense to tense in the optatives listed will be in the stem.
Technically, the o is a theme vowel while 1 is the sign of the optative and -, -5, --, -pev, -
Te, -ev are the endings. The 3rd singular "ending” (o1) is really the theme vowel and the
sign of the optative put together as a diphthong (hence the double-dash for the third
singular above). The first aorist optative has at instead of ot but otherwise has the same
endings. There are three alternative forms for the first aorist active optative that you need
to know as they are very common (no difference in meaning from the regular forms). I
have put them next to the regular forms.

Mnemonic Alert: Given that all the active present/future/2nd aorist optative endings
have ot in them, you could think of the optative as the oiptative!

Present Optative Future Opt  2nd Aorist Optative  1st Aorist Opt
Isg.  Avown AUcout Altroiut AVUcaiut
2 Avoig AUoois Alrorg AUoais  Avoceias
3 Avol AUcol Altrot AVoar  Avoeie(v)
1 pl.  Avoiuev AUcoluev AlTrolpev AUocaipev
2 Avorte AUcoite AltrorTe AUoaite
3 AVoiev AUcolev Altroiev AUocaiev AUoceiav

Note: Ilisted the future active optative forms as they are quite straightforward but they
are generally only used in a few specific situations (such as indirect statement).
Note: the first aorist optative uses at and so you could call it the aiptative!
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Note: the alternative forms for the first aorist act. optative are very common.

Charming Accent Quirk in the Optative: ot and a1 are considered long for
accenting at the ends of words ONLY in the optative mood (and so you can consider this
the exception to the usual exception about these two diphthongs at the end of words). In
other words, all diphthongs are long in the optative no matter where they appear in a
word. This explains the accents of AUol, AUoot, Avoat, k.T.A. This can be important as
occasionally charming Greek forms are distinguished only by accent: e.g., AGoat "to free"
(aor. act. infinitive) vs. AUoat "if only she may free" (one of many possible translations for
the 3rd singular aor. act. optative).

TWO INDEPENDENT USES OF THE OPTATIVE
1. Potential: it refers to future possibility and requires &v (and so remember it as the
potavtial!). Translate with "would, could, may, might" and negate with ou/ouk, oux.

viv yap @épordey av Ta dddpa Ti) Zwi) "We could bring gifts to Zoe now."

2.Wish: expresses a future wish and can be used alone or be introduced by €ibe or €i ydp.
It is negated with un.

€iBe 1) Zeom) ToU kdouou &pxol. "If only Zoe may rule the universe."

THE VERB "TO BE" in the SUBJUNCTIVE AND OPTATIVE!

Subjunctive Optative
I sg. @ ey
2 ns eing
3 n €in
1 pl. COUEV €lueV/ €inuev
2 nTe gite/ ginte
3 aoi(v) giev/ einoav

Fun Fact: the subjunctive forms are exactly the same as the regular active subjunctive
endings you just learned above (fun game: write out the subjunctive endings and the verb
"to be" in the subjunctive--that's it...that's the whole game! you're welcome!).

Equally Fun Fact: the optative forms for "to be" are exactly the same as one of the sets
of active endings for the optative mood! We will see these forms again on Day 7 with the
contract verbs.

SOME QUICK TIME AND SPACE CONSTRUCTIONS (similar to Latin!)

As with Latin, note the overlaps in time and space with these case uses.
Genitive of Time Within Which: cf. Latin ablative of time within which. Use
"during" or "within" to translate this: e.g., Tiis Nuépas during the day.

Dative of Time When or Place Where: cf. Latin ablative of time when or place
where. e.g., TQUTn T1) Nuépa on this day (can also appear with a preposition). The spatial

dative takes a preposition such as €év: év &yopd in the marketplace.

Accusative of Extent of Time or Space: cf. same case uses in Latin!
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E.g., déka €1n ol pikpoi émaidevov Tov dijuov. The small dogs were educating the people
for ten years.

QUICK SUMMARY OF BASIC CASE USES...
Nominative: subject of verb (or for anything modifying it such as a predicative
adj/noun in a predicate nominative construction)
Genitive: possession; time within which; partitive (exactly like Latin partitive gen.);
separation (just like the Latin abl. of separation); agent; comparison; genitive uses often
correspond to the many uses in English of "of" and so you could call this case the
GenitOF...
Dative: indirect object; means or instrument; manner; time when or place where;
advantage or disadvantage (just like Latin!); possessor (just like Latin!); respect (cf. Latin
abl. of respect); agent (with perfect pass.); degree of difference (cf. abl. of degree of diff.).
Accusative: direct object; subject of infinitive; respect (e.g., &y afos vouv "good in
respect to his mind"); extent or duration of time or space; adverbial use (e.g., TOAU cf.
multum)
Vocative: only used to address someone or something directly (often preceded by @)

Note: as you can see, the genitive and dative have the most number of uses and so be
especially careful to learn those for maximum safety on the Greek translating streets. As
you have undoubtedly noticed, Greek doesn't have an ablative case and so most of its uses
are spread over the Greek genitive and dative.

PRONOUNS!
I've always been very pro-noun myself and so I am happy we have reached this point
where we can discuss pronouns (which of course stand by themselves pro nouns). The
personal pronouns are very straightforward and I will just list them with little commentary.
We will then look at the set of forms that amazingly serve as interrogative pronouns and
adjectives as well as indefinite pronouns and adjectives (the indefinite ones are enclitic and
so you don't have to rely only on context!). Learning the one set of Tis, Ti{ forms allows
you to express all those things! mirabile auditu, right?!

INTERROGATIVE AND INDEFINITE PRONOUNS AND ADJECTIVES!!!
The interrogative pronoun (who? what?) is a third-declension (two-termination) word in
Greek: Tis, Ti. I have written out the forms below and please be careful to learn the
common alternate forms which look charmingly similar to the definite article. It turns out
that the same exact set of forms is also used for the indefinite pronoun and adjective and
the only difference is that the indefinite pronoun/adjective is enclitic and so may or may
not have an accent (whereas the interrogative pronoun/adjective has consistent fixed
accents). Even if the indefinite pronoun gets an accent (it depends on the preceding word),
that accent will generally not be on the same syllable as it is for the interrogative forms.

Full Disclosure: that only helps for two-syllable forms as you will see but that is quite a
bit of help since most of the forms have two syllables! As it turns out, the interrogative
forms always have a fixed accent over that initial Ti- syllable (even on the monosyllabic
forms when another word follows it--Tig and Ti will always look the same and the acute
will never shift to a grave accent as is normal--you remember that! That is so Day One!).
It is then a rare exception to the accenting rules but a really useful one! So, as you can see
below, the interrogative forms look very distinctive and consistent. The indefinite forms
often have no accent at all but if they do, it goes over the ultima (and so NOT on the same
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syllable as most of the interrogative fi orms). This is a moment where accents are very
helpful as they make forms clearly different. Let's look now at the forms as that will make
this easier to grasp. Then we will go over examples of this important set of forms and their
charming array of possible translations. At this point, you might wish to glance out the
window and marvel to yourself (or aloud to your fellow Greek enthusiasts): illa lingua
Graecal

Interrogative Pronoun/Adjective Indefinite Pronoun/Adjective
Masc./Fem. Neuter Masc./Fem. Neuter
Nom. sg. Tis Ti TIS Tl
Gen. Tivos (Tou)  Tivog (Tou) Twds (tou)  Tvds (Tou)
Dat. Tivt (T®) Tivl (T®) Twi (Tv) Twi (Twv)
Acc. Tiva Ti TWA& Tl
Nom. pl. Tives Tiva TIVES TIV&
Gen. Tiveov Tiveov TIVAV TIVAV
Dat. Tiow(v) Tiow(v) Ti61(v) Ti61(v)
Acc. Tivag Tiva TIvag TIV&

Similar Form Alert: the gen. and dat. singular alternate forms in parentheses do look
exactly like a few of the definite article forms (especially in the interrogative forms where
the accent is always there--as mentioned above, the indefinite forms often don't have any
accent and so will look a little different).

Note: There are a few charming enclitic accenting rules that eventually you will want to
know thoroughly but for now, just be aware that enclitic words in Greek sometimes have
an accent and other times don't. If this were Greek in 11 Days, I would go into more depth
with that right now, but I will be happy to show you the full enclitic rules if you are
curious!

When you encounter one of these charming forms out there on the Greek streets, you
should be systematic and ask yourself these questions:

1) is this form interrogative or indefinite? The interrogative forms have fixed
accents and they are used in questions (usually direct but sometimes indirect questions--see
appendix for more!). The indefinite forms are frequently in general statements but they
can be really used in almost any type of discursive context. Remember that if the form has
no accent (orif a two-syllable form has an accent on the ultima), then that is
unambiguously an indefinite form.

2)1is this form a pronoun or an adjective? This is easy to determine. If the form is
standing alone, then it is a pronoun (as all pronouns stand in for nouns, or act on behalf of
nouns--hence the name!). If the form agrees with a noun, then it is an adjective. Of
course, like any adjective, the indefinite adjective can stand alone as a substantive, but
context will make this clear.

If you consistently ask yourself those two questions, then you will have no problems

distinguishing one of these forms and its function in a sentence. Ready for some
examples?! Here they are:
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Tis elmme Ta¥Ta; "Who said these things?"

Explanation: Tis is interrogative as it is being used in a question and it has the fixed
acute accent even though another word directly follows it. It is not agreeing with a noun
and thus standing alone. Hence, Tis is an interrogative pronoun.

Tis avnp elme TalTta; "What man said these things?"

Explanation: Tis is interrogative but here is agreeing with the noun &vrjp and so this is
an interrogative adjective. Note again that the accent on Tig is fixed and it doesn't change
to a grave accent even though another word directly follows.

Tivt TabTta émepyas; ""T'o whom did you send these things?"
Explanation: Tiviis interrogative and is standing alone and so is an interrogative
pronoun.

N Zoom) Tva €v Ti) &yopd eidev. "Zoe saw someone in the marketplace."
Explanation: Twva has no accent and is enclitic. This automatically confirms this is an
indefinite form. It is standing by itself and so it is an indefinite pronoun. By the way,
enclitics are so called because they lean on the preceding word (¢yxAives lean on).

AUel Tis TouTous. "Someone frees these people.”
Explanation: Tis is enclitic and so is indefinite (and it is not being used in a question). It
stands alone and so this is an indefinite pronoun.

ToAiTns Tis elre TaUTa. "Some citizen said these things."
Explanation: Tis is enclitic and so it is indefinite. It is modifying the noun oAiTns and
so this 1s an indefinite adjective.

Similarity to English Alert: we have a very similar overlap of forms in English.
Consider the following:

"What did you read?" ("what" is an interrogative pronoun)

"What book did you read?" ("what" is an interrogative adjective)

FIRST AND SECOND PERSON PERSONAL PRONOUNS
As an inflected language, Greek does not need personal pronouns as often or as much as
English does. The subject is clear enough from the verb endings. However, the Greeks
used them to emphasize subjects and of course used them much as we do in English for
objects. The alternate enclitic forms in the singular are less emphatic than the regular
forms.

First Person Second Person
Nom. sg. gy ou
Gen. ¢uou (uou) ooU (cou)
Dat. ¢uol (o) oot (cot)
Acc. gué (ue) ot (og)
Nom. pl. TIUETS UUETS
Gen. UGV UHGOV
Dat. UiV UMY
Acc. UGS VTle(y
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Mnemonic Alert for the 2nd pers. pl: Uneis is 2nd person as it begins with v
(sounds like "you"!).

HOW TO EXPRESS POSSESSION: the Greeks used either the genitives of the
personal pronouns (in the sing. they typically used the less emphatic enclitic forms) or
these possessive adjectives:

€uos, EUT), EUOV my

TUETEPOS, THETEPQA, TIMETEPOV our

0ds, o1}, o6v your (referring to one person)

UpéTepos, UneTépa, UuéTepov your (referring to more than one person)

For possession in the third person, use the genitive forms of aUTos, autr, auTo.
Example: T6 avtoU BiBAiov = "the book of him" "his book"

Note: aUTos, 1), & is quite a versatile adjective and easy to form (declines exactly like
EKETVOS, EKEIVN, EKETVO.

THREE USES OF autds, autn, autd
1. third-person personal pronoun (him, her, them) only in the oblique cases (i.e. all
cases except the nominative).
e.g., EMEUYAUEY auTe ddpa we sent gifts to him
e.g., EMIdeUoaUEY auTous v Tij dyopd we educated them in the marketplace.

2. -self (emphatic use) it emphasizes the word it agrees with and can do this either
alone in the nominative or while standing in the predicate position:

e.g., 6 KAy auTtds the thief himself

e.g., Eméppapey autov Tov “Ounpov eis v vijoov. We sent Homer himself onto the
1sland.

3. "the same" (requires the form of aUTds to be in the attributive position)
e.g., 6 auTOs KAy the same thief

REFLEXIVE PRONOUNS!
These are pretty straightforward and combine personal pronouns with forms of auTds, 1,
6. Note the alternate contracted forms in parentheses as they are important! Watch out for
the rough breathing on the third-person reflexives. Also be careful for the forms in the
plural that are periphrastic (i.e. use more than one word). As you know from Latin,
reflexive pronouns cannot appear in the nominative as the idea is for the pronoun to
reflect back to the nominative (and so can't already be in the nominative). Students often
confuse the emphatic "I myself saw the dog" with the reflexive "I saw myself in the
mirror." That is of course the fault of English for using the same -self suffix for emphasis
and for reflexives. Greek is friendly and charming and would never do that to you!

Ist pers. masc. 1st pers. fem. 2nd pers. masc. 2nd pers. fem.
Gen sg. éuauToU EUauTis oeavuToU (cautol)  oeauTiis (cauTis)
Dat. guautd EUOUTT oeauT® (cauTt®)  oeauTi (cauTh))
Acc.  éuauTtdv EUauThV oeauTédv (cautdv)  oceautiv (cauTrv)

As mentioned above, the plurals are periphrastic in the 1st and 2nd person and so they use
the regular pronoun plus a matching form of autds, 1}, 6.
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first person plural reflexive 2nd person plural reflexive

M F M F
Gen. pl. NUGV aUTAV UV aUTEOV VUGV aUTOV VUGV aUTOV
Dat. MUV auTols MUV auTads VUiV auTofls VUiV auTalis
Acc. UGS auTous UGS auTas Vs auTous UGS auTdas

The 3rd person reflexive pronoun generally uses the older pronoun form (which is
common in Homer) € and appends the appropriate form of auTds, 1§, 6. There are
alternate contracted forms where the € disappears from view but you can still see its
presence by the rough breathing (which distinguishes it from the ordinary autds forms).
There are neuter forms for the third person as well...yeah!

Third Person Reflexives

Masc. Fem. Neuter
Gen. sg. €auTou (autol)  éauTijs (aUTHs) ¢auTtoU (aUTol)
Dat. EauTS (aUTR) gauTih (auTi) EauT® (aUTR)
Acc. gauTov (aUuTdV) éauTtnv (aUTthv) tauTtd (aUTd)
Gen. pl. éautdov (autddov) EauTdV (aUTV) EQUTAV (aUTV)
Dat. éauTtois (aUTols) EéauTals (aUutals) ¢auTtois (aUTols)
Acc. éautoUs (aUutovs) EauTtds (auTds) téautd (auTd)

DAY SIX: Purpose Clauses, Sequence of Moods, Middle and Passive

Forms, Indirect Statement and the Incomparable Comparatives!

Purpose Clauses and the Sequence of Moods:
This is your first use of the subjunctive and optative moods in subordinate clauses. As
you'll see, purpose clauses use both moods depending on the tense of the main verb in the
sentence. Primary sequence clauses take the subjunctive while secondary sequence clauses
take the optative (with a few charming exceptions). This is a good example of a
construction where the subjunctive and optative moods convey the same idea and don't
have any intrinsic difference in meaning. As Latin students, you are familiar with the
importance of sequence and relating main clauses and subordinate clauses. Greek has
something similar but whereas Latin has a sequence of tenses, Greek has a sequence of
moods. As you can see below, the tense of the main clause is still important as it is in Latin.
In Greek, the tense of the verb in the subordinate clause doesn't really matter as much as
its mood. This system of a sequence of moods makes a lot of sense and is not difficult, just
a bit unexpected for Latin students such as yourselves. I think it will be easier to
understand with a charming chart and a few examples.

SEQUENCE OF MOODS!!!
Sequence Main Verb Subordinate Clause
Primary primary tense subjunctive
Secondary  secondary tense optative

Primary tenses refer to present or future time and so include the present, future, and
perfect tenses (and the very rare future perfect).

Secondary tenses refer to past time and so include the imperfect, aorist, and pluperfect.
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Translation Note: for some constructions such as the purpose clause (see below), you
will usually use "may" with the subjunctive and "might" with the optative. For others, the
subjunctive and optative are not really translated differently but just mark a clause as being
in primary or secondary sequence. As in Latin, you will find that some constructions will
use the subjunctive or optative but be rendered much like an indicative. In short, there is
not a single fixed translation for either the subjunctive or optative and it really depends on
what sort of clause you are translating (and that is why subjunctives and optatives are
generally not paired with translations in paradigms as there are too many charming
choices to choose from!)

These Clauses Give Your Life Purpose!
Purpose clauses are introduced by cos, {va, or é1reas (with no difference of meaning) and
the tense of the main verb determines what sequence you are in and so whether that
purpose clause will use the subjunctive or optative.
Here are two examples:

6 &vBpoTros TéuTel Sddpa Tols Beols tva AUwot Tous kakous.
The man sends gifts to the gods in order that the gods may destroy the evil ones.

Explanation: méumelis present tense and since that is one of the primary tenses, this
sentence is in primary sequence and the purpose clause (or really almost any subordinate
or dependent clause) will be in the subjunctive mood.

6 &vbpcoTros Emepye Scdpa Tois Beols iva AUolev Tous kakous.
The man sent gifts to the gods in order that the gods might destroy the evil ones.

Explanation: Emepye is aorist tense and since that is one of the secondary tenses, this
sentence is in secondary sequence and the purpose clause will use the optative mood.

Again, the tense of the main verb determines the sequence of the sentence. Although we
often use "may" or "might" to distinguish the sequence in our translations, there is still no
real difference in meaning in terms of how the subjunctive and optative are functioning to
convey purpose.

Tense Outside Indicative Indicates Aspect: the tense of the subjunctive or optative
generally indicates aspect and not time. The present subjunctive and optative indicates
progressive or repeated aspect and so are used to suggest that the action is ongoing or
habitual. The aorist subjunctive or optative indicate simple aspect and are so are used for
simple actions that usually occur once. This difference of aspect can be subtle and is not
generally rendered in translation. If the Greeks want to emphasize this difference, they can
add adverbs to indicate how often the action takes place or whether the action is ongoing
or one-time. The perfect subjunctive or optative is much less common and we won't deal
with it here but just so you know, the perfect tense is used to emphasize that an action has
just been completed. These three types of aspect (simple, repeated, and completed) are of
course used outside of the subjunctive and optative and I will point them out as we
encounter them. When you encounter an indicative verb out on the Greek streets, be
aware that tense can really indicate either time or aspect but for the most part you should
think of tense as indicating time in the indicative and aspect everywhere else. As you will
see (and as you have seen in Latin), infinitives and participles can indicate relative time to
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clarify the order of events when you have multiple actions being described, but don't
worry about that for the moment.

CHARMING EXCEPTION TO THE SEQUENCE OF MOODS!
Occasionally the Greeks used the subjunctive in secondary sequence to convey a bit of
(untranslatable) extra emphasis or vividness. This is called a retained subjunctive. It is
reasonably common and so you should be aware of this little exception to the rules of
sequence. Here 1s an example:

6 &vbpcoTros Emepye Sdpa Tols Beols iva AUwol Tous kakous.
The man sent gifts to the gods in order that the gods might destroy the evil ones.

Note: This is secondary sequence with a retained subjunctive for a bit of extra emphasis
or immediacy. That bit of extra emphasis is hard to render in translation but you can
indicate this emphasis with a slightly more emphatic tone of voice when translating aloud.
Of course, you should generally focus on your own awesomeness for recognizing a
retained subjunctive and then render the subjunctive as if it were the expected optative in
secondary sequence.

The MIDDLE AND PASSIVE VOICES!!!
The middle voice has occasioned unnecessary fear in the hearts of many a Greek student in
the last few thousand years. Do not fear the middle voice and rest assured that soon you
will wish to see it in other languages. You will one day tell your friends to adopt the
linguistic "middle way" for real peace of mind). We don't have anything exactly like the
middle voice in English and this has added to its reputation as something elusive or
confusing. The middle voice in Greek is used to convey actions that bring some benefit or
effect to the subject of the verb. It can resemble a reflexive in some situations in that the
action of the verb returns somehow back to the subject but the middle is not simply a
substitute for reflexives (Greek does have reflexive pronouns, don't worry!). In terms of its
form and usage, the middle is an interesting combination of active and passive. MEN, they
are similar to active verbs in that they can be transitive and take direct objects or they can
be intransitive (meaning simply that they do not take a direct object). AE, the middle
forms often look the same as passive forms and in fact, the middle and the passive forms
are identical in all but two tenses (future and aorist). This is cause for celebration as you
can mostly just learn one set of forms and then just take note of how a given verb is being
used in a given sentence and it should be clear from context whether it is middle or passive.

Greek sometimes uses the middle voice as a way to allow a special additional meaning or
two to a verb...and so the middle voice can literally make Greek verbs more meaningful!
On occasion, you can see the connection between the active and middle meanings of verbs
but that won't always be obvious and so you just need to be ready to have a given verb
mean something different in the middle. As an example of a verb with a clearly connect,
AUc means "free, release” in the active voice and "ransom” in the middle voice. If you
think about it, that is a clear connection. If you ransom, you "release with some benefit to
oneself." You don't have to figure out the connections between the active and middle
meanings of a typical verb as a lexicon will indicate whenever a verb has an unexpected
meaning in the middle. Often you can just translate the middle voice as if it were an active
and nothing dire will transpire (and I will point out many instances in the coming days
where the middle meaning is clearly similar to or different from the active meaning(s).
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Here are a few more examples of verbs with different meanings in the
active and middle voices:

apxw means 'rule” in the active and "begin" in the middle and there is not an obvious
connection between those meanings

Ypapw means "write" in the active and "indict" in the middle and perhaps you can see a
connection there (you may prosecute someone with some hoped-for benefit to oneself,
especially in the Greek system where individuals served as prosecutors and defenders and
there were no professional lawyers).

@épwd means "bring, carry, bear" (among other things) in the active and "win" in the
middle. This seems to me an example where you should just learn the meaning of the
middle and not worry about connecting the meanings of the active and middle.

There are a number of smaller semantic twists and turns you will encounter with the
middle voice. For instance, a verb can be transitive in the active but intransitive in the
middle: e.g., Tavw means "stop” in the active and takes a direct object but it means
"cease" in the middle and doesn't take a direct object. Any self-respecting Greek lexicon
will tell you these kinds of charming details and you are not expected to intuit or figure out
that kind of thing. The idea of the middle voice conveying a different meaning from the
active voice will become ordinary to you by, say, Day 7 or 8, if not earlier!

The Relationship Between the Middle and Passive: the passive voice will
generally follow the active meaning (with the usual reversal that happens in the passive
voice of any language: the subject receives the action in the passive and performs the
action in the active voice). So, for instance, &pxopat as a middle means "I begin" but as a
passive, it means "I am ruled." Since the middle and passive usually look the same, you
must very often rely on context and whether the verb takes a direct object since passive
verbs never take direct objects in Greek.

MIDDLE-PASSIVE INDICATIVE ENDINGS (for primary tenses)

Singular Plural
1 -oualt -6ueba
2 -e1/-n -eoBe
3 -ETAl -ovTal
Infinitive: -ecBaut

These endings work for the present middle-passive and the future middle (just add these
endings to the appropriate stem). The future passive uses a completely different stem and
shares that stem, strangely enough, with the aorist passive--they both use the stem in the
sixth and final principal part in case you are curious but more on that later).

Note: as you can see, the second-person singular has two endings that sound the same but
are spelled differently. They are both common and have no difference in meaning and so
learn them both! For those curious, the original ending was -ecai and the intervocalic
sigma dropped and you end up with e1/1).

Present Middle-Passive Future Middle

Singular Plural Singular Plural
1 AVopuat Audueba AUocoual Auvcdueba
2 AUel/ AUy AUeobe AUoel/AVory  AUoecbe
3 AVeTal AVovTal AVoceTal AUcovTal
Infinitive: AVecBat AVocechal
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Note: watch out for the -€1/1) ending as those are obviously the same for the basic 3rd
singular active ending. Context will distinguish the active AUet "she frees” from the middle
AUet "you are ransoming” or the passive AUel "you are being freed." illa lingua graeca!!!

MIDDLE-PASSIVE INDICATIVE ENDINGS (for secondary tenses)

Imperfect Middle-Passive First Aorist Middle 2nd Aorist Middle
Singular Plural Singular Plural Singular Plural

1 -6unv -oueba -aunv -&ueba -6unv -oueba

2 -ou -eoBe - -acbe -ou -eobBe

3 -€ETO -oVTO -aTo -avTo -€TO -ovTo

Note: the 2nd person singular in the imperfect mid-pass. and the 2nd aorist middle
originally had the form -eco but in a sound change you may be able to predict by now, the
intervocalic sigma dropped and the remaining vowels (e0) contracted to yield ou. This
explains why the 2nd singular appears to change theme vowels from the expected € to an
interesting o. As this diphthong was the result of sound changes and not original, it is
called a spurious diphthong (great band name, right?!).

Theme Vowel Reminder: Remember that the usual sequence of theme vowels is o, €,
e in the singular endings and o, €, o in the plural endings. You can see them most clearly
in the imperfect active forms.

Overlapping Forms Alert: asis true in the active voice as well, the imperfect middle-
passive and aorist middle endings are exactly the same. You can only distinguish them by
the stem (present or aorist and so the stem from the first or third principal parts).

Another Intervocalic Sigma Drops: the first aorist middle looks very much like the
other forms but with the substitution of a for the theme vowels € and o. The 2nd singular
(often a charm generator in the middle and passive endings!) is another instance where the
intervocalic sigma has dropped. The original ending was -aco and when the sigma
dropped, the remaining vowels (ao) contracted to yield the ending -co.

Tricky Form Alert: that 2nd singular aorist middle ending in -co looks initially like an
active 1st singular form but remember that the aorist middle will be augmented and have
an aorist stem. So, it is not an ambiguous form but students understandably confuse it for
an active 1st singular until they have seen enough of those to keep both possibilities in
mind.

Imperfect Mid-Pass. First Aorist Middle Second Aorist Middle
Isg. eAermdunv ¢Avodunv EAITTOUNY
2 ¢AeiTTou gEAUow ¢AiTrou
3 ¢AeltreTo ¢AUoaTo ¢AiTreTO
I pl. eAermrdueda ¢éAvodueba EAITTOHEDa
¢Aeireobe ¢AUoaoBe gAiTrecBe
3 ¢AelTrovTo ¢A\VUocavTo ¢AiTTovTo
Infinitive: AVocaocbat AirécBat

Note: Remember that the imperfect never has any infinitive (or subjunctive or optative or
imperative for that matter).
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Fixed Accenting Note: the second aorist has fixed accents for its infinitive: AlTetv,
ArréoBau (it is consistently on the accenting right after the end of the stem). As you will
see below, the aorist passive also has a fixed accent on the penult (AuBfjvan). It is also the
case that Greek always accents the syllable before a final -vai and that will determine how
you accent perfect active infinitives (and that is in fact why the aorist passive infinitive has
that accent).

FUTURE AND AORIST PASSIVE (6th principal part)
As mentioned above, the future and aorist passive both use the sixth principal part for
their stem but the two sets of forms are otherwise clearly different. The aorist passive is
augmented in the usual way for any past tenses of the indicative, and it has a distinct set of
endings as you can see below. The future passive uses the 6th principal part with no after
the stem and before the regular primary M-P endings. The future and aorist passive are
not difficult to recognize or translate and I have given you the formulae here as well as the
endings and a sample of each. You won't have to use these in the homework for today but
they will be helpful on Day 8 when we sightread some Homer (in particular the aorist
passive as it is a common tense you'll see frequently on the Homeric streets).

Formula for Aorist Passive: augment + 6th prin. part stem +endings (-nv, -ns, -1, -
nuev, -NTe, -noav). E.g., & + AUB + nu = éAUBnv "I was freed" (a simple past expressed in
the passive voice).

Formula for Future Passive: 6th prin. part stem +no +primary mid-pass. endings (-
opat, -et/-1, -eTal, -opeda, -eobe, -ovtai). E.g., Aub +no + opai = Aubrjcopat "I will be
freed."

Note: technically, the stem is here AU- and the sign of the aorist passive is 6n/6e (with the
long vowel Bn used in the indicative and infinitive and the short vowel 8¢ used for the
subjunctive, optative, and participle) but for the sake of convenience here, you can think of
AUB as the stem (as otherwise the stem will look exactly like the present stem--linguistically
true but not particularly helpful for you trying to learn Greek in 8 Days! Similarly, the
endings for the aorist passive are really -v, -5, --, -pev, -Te, -oav which should seem like
familiar secondary endings by now but the eta makes that set of endings more distinct and
easier to chant to your friends at lunch (an important consideration, right?).

Overlapping Ending Alert: the endings of the aorist passive have some overlaps with
active verb endings you have learned (cf. imperfect and aorist active endings) but the
presence of 6n before the endings is distinctively aorist passive (or even just the presence of
the eta itself as a number of verbs don't use the theta in this tense).

AORIST PASSIVE FUTURE PASSIVE
lsg. -nv EAUBNV -ouat Aubrjicouat
2 -ns ¢AUONS -el/-n Aubrjcer/Aubrion
3 -n ¢AUON -eTal AubrjiceTan
Ipl. -nuev EAUBTLEY -oueba Aubnodueba
-nTe EAUBNTE -eobe Aubriocecbe
3 -noav ¢AUbnoav -ovTal AubrjicovTal
Infin. --fijvau Aubrivai -eobai Aubrjicecbai
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Note: the 6th principal part stem very often but not always has a theta at the end of the
root. Here are a few examples of verbs whose 6th principal part do not have a theta. This
does not aftect the meaning at all but I don't want you to rely too much on the presence of
a theta in this principal part.

The aorist passive is very common and so here are some sample sets of forms! Enjoy!

TéuTe send YP&pw write B&AAw throw, hit  &yw lead
Isg. éméupbnu Eypaoenv eBaAnV fix6nv
2 ETEUPONS EYypaogns ERAANS 1ixons
3 ETTEUPON Eypéon ¢RAAN Hx0n
1 pl. éméupbnuev EYPAPTUEY ¢R&ANuEY fxOnuev
2 ETEUPONTE EYypaenTe ERAANTE fxonTe
3 eméupdnoav gypagpnoav gRaAnocav fixénoav
Infin. Teppbrivan Ypagrival BaAfval axbnval

Note: as always, the infinitive is not augmented and that is why the n gets "de-
augmented" back down to the a in the root.

Note: the aorist passive of B&AAw loses one of its lambdas in the 6th principal part. This
is a brief cautionary tale about why it is important to pay attention to principal parts. In
the case of this verb, that one letter can make one A of a difference!

MIDDLE and PASSIVE SUBJUNCTIVE ENDINGS!
These are blissfully easy to form as you will see below. The Greeks simply lengthened the
theme vowels for the usual primary middle-passive endings and added the appropriate
stem. As with the active forms above, we will focus only on the present and aorist tenses as
those are the only commonly occurring tenses of the subjunctive. As always, it is important
to pay attention to the stem of the verb! The aorist passive has its own set of easy forms
(with one tiny oddity) which I will put below but we won't dwell on it today.

Present Mid-Pass. 1st Aorist Middle 2nd AoristMiddle

Isg. -copat AVcouat AVcwual Alroouat

2 -n Aun Avon Aimm

3 nTat AUnTai AvonTat AlnTal

Ipl.  -coueba Aucoueba Avocoueba Alrcopeda
-nobe AUnocbe AUonobe Aitnobe

3 -wvTal AVwvTal AVowvTtal AlrwvTat

Note: There are no augments on any aorist subjunctive forms because (as you know) you
only augment the indicative (cue inspiring music courtesy of the Grammar Café).

Note: as was true in the active voice, the only difference between the present middle-
passive and aorist middle subjunctive is the stem. The present and first aorist subjunctive
can also look quite similar (depending on how similar the verb stem is) but they will not be
identical (and often will look quite different as Greek helpfully has multiple stems for a
number of its verbs--that may initially seem like a challenge but it is quite helpful in
distinguishing these subjunctive forms...illa lingua Graeca!!!
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Aspect Reminder: The difference between the present and aorist subjunctive is one of
aspect with the pres. tense showing repeated actions and the aorist tense indicating simple
or one-time actions.

MIDDLE-PASSIVE OPTATIVE ENDINGS:
As you might expect, the present middle and passive optative endings look the same and I
will only write out one set of forms (just as I did above for the present middle-passive
subjunctive). I will put the present mid-pass., future middle and aorist middle optative
forms below. The aorist passive subjunctive and optative share the same stem and so |
saved them for last and directly juxtaposed them below. Remember that the middle and
passive forms always look the same in all tenses except the future and aorist (true for all
four moods because Greek is your friend!).

Present M-P (and Fut. Mid.) 1st Aorist Mid. 2nd Aorist Middle
1sg. -oiunv -aiunv -oiunv
2 -010 -alo -010
3 -o1TO -alTo -oITO
I pl. -oiueba -aipeba oiueba
2 -o100¢ -a106e -o100¢
3 -olVTO -QIVTO -olwTO

Yet another disappearance of the intervocalic sigma: in a move that must be
familiar to you now, the original 2nd person singular endings -o1co and -aico lose their
intervocalic sigmas and become -oto and -ato.

Note: the ain the first aorist middle optative is a reliable indicator of the aorist tense, just
as it was in the aorist active optative (and in most of the first aorist indicative forms as
well).

More Evidence for the Importance of the Verb Stem: as was true with the
subjunctive forms, the present and second aorist endings are identical and so they only
differ in the stem (e.g., present Aetroiunv vs. aorist Aimroiunv).

Reminder: you will never augment aorist optatives because, as you all know by now,
you only augment the indicative! (certainly a sentiment worthy of a T-shirt to be sold in
the Grammar Café).

Linguistic Note for Those Interested: Note that no vowel contractions then
happened and so here, Greek is perfectly content to allow vowels to hang out next to
diphthongs. Why, you ask? Good question! Attic Greek loves to encourage two adjacent
short vowels to contract and thereby create a lovely diphthong (as we have seen in third
declension nouns earlier). However, diphthongs next to short vowels do not contract
because diphthongs are long and Greek prefers to contract two short vowels (think of the
diphthong as too strong and autonomous to contract).

AORIST PASSIVE SUBJUNCTIVE AND OPTATIVE!

Aorist Passive Subjunctive Aorist Passive Optative
Isg. -& Aub -einv  Aubeinv
2 -is Aubiis -eins  Aubeing
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3 -0 Aubri -ein Aubein

Ipl. -cdopev AuBduey -e1lev/-emnuev AuBeiuev (AubBeinuev)
2 -fTe AubriTe -ate/-enTe  Aubeite (AuBeinTe)
3 -&oi(v) Aubcoi(v) -elev/-emoav Aubeiev (Aubeinoav)

Note: in a delightfully charming twist of linguistic fate, the aorist passive subjunctive has
endings that look just like the active subjunctive endings with the lengthened theme vowels.
Accenting Note for Those Interested (i.e. everyone!): the circumflex accent is
there because technically the short vowel version of the aorist passive stem collides with the
lengthened theme vowel of the subjunctive. The circumflex commemorates the site of the
collision (a common function of the circumflex as we will see on Day .

Note: as mentioned above, there is a second set of endings for the optative and they are
used in a few instances. The aorist passive optative is one of them! As you can see, there
are alternate forms for the plurals with no difference in meaning.

Really Fun Fact: the endings -emnv, -eing, -€in/-eimuev, -e1Te/-€IMTE, -€IEV/-EINOQAV just
happen to be EXACTLY the same as the actual present optative forms of eiui "to be"
(including the alternate forms in the plural!). quam gelidum!!!

umd + the Genitive of Personal Agent
This construction corresponds to a(h) + abl. of personal agent in Latin. If you see Umo +
gen. of personal agent, consider it a very reliable sign or hint that the verb is passive (like
most prepositions in Greek, Ud can have other meanings but this is definitely a very
common construction). Here is an example:

6 TTA&Teov émandeveTo UTO ToU ZwkpdaTtous. Plato was being educated by Socrates.

Middle and Passive Deponents (could this language get any better?!)
Greek has deponent verbs just as Latin does although Greek manages to add an interesting
twist by having both middle and passive deponents. As you undoubtedly recall, Latin
deponent verbs set aside their active forms and look passive but they are still translated as
actives. Given that Greek has both a middle and a passive voice, this charmingly opens up
new grammatical vistas and so there are verbs that have only middle forms (called middle
deponents) and other verbs that have only passive forms (called passive deponents). As you
know, the middle and the passive look the same in all but two tenses (future and aorist)
and so it will often be a bit challenging to tell whether you are dealing with a middle or a
passive deponent. But never fear, as that is the subject of the next paragraph!

How to Distinguish Middle and Passive Deponents (and why it is not all
that crucial!): You can always tell by looking at the principal parts of a given verb as
they appear in any good Greek lexicon such as the small Liddell and Scott (I strongly
recommend the little Liddell as it is known far and wide). The sixth principal part (as you
know) of any normal Greek verb is the aorist passive indicative first singular. If this aorist
passive form is missing in the list of principal parts, then you must have a middle
deponent! That is the best way to determine whether you have a middle or passive
deponent verb. The good news is that it doesn't really matter all that much since you will
translate either type of deponent as an active verb in any case. If the verb is a middle
deponent, then you just translate it as if it were active and resist the temptation to add
some sort of "middle-ish" force (i.e. just treat it like any other ordinary deponent verb).
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Note: both types of deponent verbs will lack the fourth principal part since that is
reserved for the perfect active indicative (and so it never used in deponent verbs). There is
no way to predict what verbs will turn out to be deponent in Greek and so you should just
consider it part of the vocabulary and take note when a verb appears with only middle or
passive forms.

The Fully Charming SEMI-DEPONENT VERBS!!!
Because Greek is that gelida, there are verbs that are called semi-deponent verbs where the
verb will "go deponent" in a tense or two. You have undoubtedly seen this phenomenon in
Latin with verbs such as audeo, audére, ausus sum. A common Greek example is &dkoUw
which goes deponent only in the future tense and so the first three principal parts for that
verb are as follows: akoUw, akovooual, fikovoa.

TWO TYPES OF INDIRECT STATEMENT
This is a nice and friendly little construction to end our day. It is safe to say that you use it
every day (see what I did there?). There are three ways to do indirect statement in Greek
and we will briefly look at two of them today (the third one uses participles and so we will
look at them on Day 7 if we have a chance--otherwise, that information is in the
appendix). These are not difficult, in part because the first one is very similar to English
and the second one is very similar to the way Latin does indirect statement (and in fact we
have both of these types in English even if we use one much more than the other).

1) MAIN VERB + é1i/cos + FINITE VERB

In this type that closely resembles indirect statement in English, you need to keep in mind
the differences between primary and secondary tenses. dT1/cos (either is used with no
difference in meaning) corresponds to the English word "that" as in "I told you that this
would be easy."

--If the main verb is in a primary tense, then the verb in the indirect statement remains just
as it was in the direct statement (same tense and mood) unless there needs to be a change
of person.

--If the main verb is in a secondary tense, then original indicatives in the reported
statement usually flip over to the optative (but preserve the same tense as appeared in the
original direct statement).

This is a standard move for dependent clauses in Greek when the main verb isin a
secondary (i.e. past) tense and compare our discussion of secondary sequence in purpose
clauses back at the beginning of class today.

Note: Indirect statement is not exactly functioning in every way according to rules of
sequence in that the indirect statement does not flip its verb automatically into the
subjunctive as we saw with purpose clauses and so this similarity only applies to situations
where the main verb is in a past tense.

Retained Indicative: on occasion, Greek will retain the original mood of the direct
statement even when the main verb in the sentence is in a secondary tense. You may recall
something similar with purpose clauses where you could retain the subjunctive and not go
to the optative in a secondary sequence purpose clause. The effect in both situations is
apparently the same and here adds a bit of extra vividness or emphasis to the reported
statement. This difference can be subtle and is not generally rendered in translation.
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How does Greek deal with reporting imperfect verbs in secondary
sequence? Good question, as Greek doesn't have an imperfect optative and so it can't
retain the original tense as it generally likes to do. In that situation, Greek will simply use a
present optative, which makes sense since the present and imperfect share the same stem
(and together constitute what we call the present system). Alternatively, Greek could retain
the original imperfect indicative and avoid that whole oh-no-Greek-doesn't-have-an-
imperfect-optative issue entirely!

Enter the Future Optative: the future optative is used to represent an original future
indicative when the main verb is in a past time. This is the only somewhat common use of
the future optative.

6 ZcokpdaTns Aéyel 8T/ cos Hikpoi kUves TTaidevouaot TOV Sijuov.
Socrates says that small dogs are educating the people (does that seem a bit cynical?)

O ZwKPATNS elTrev & T1/ o5 UIKPOL KUVES TTAISEUOLEY TOV STjHOV.
Socrates said that small dogs were educating the people.

O ZwKpATNs eirev &T1/ s Hikpol kUves Emaidevoav TOv Sijuov.
Socrates said that small dogs educated the people (RETAINED INDICATIVE)

O ZKPATNS elTrev & T/ €5 MIKPOL KUVES TTAISEVUCOLEY TOV STjHOV.
Socrates said that small dogs would educate the people. (Future Optative Alert!)

2) MAIN VERB + ACCUSATIVE/INFINITIVE (aka just how Latin does it!)

This type of indirect statement is very similar to the way Latin does indirect statement.
You must supply "that" in your translation here just as you normally do with Latin. If the
subject of the main verb and that of the infinitive are different, then Greek feels compelled
(as does Latin and English) to express the subject of the indirect statement by putting that
subject into the accusative case. The tense of the infinitive generally retains the tense of the
verb in the original direct statement (just as we saw the optative do above). As Greek
doesn't have an imperfect infinitive, it will unsurprisingly use the present infinitive to
report an original imperfect verb.

In a charming twist (and departure from Latin), Greek doesn't feel the
need to express the subject of the infinitive if it is the same as the main
subject. So, when rendering into Greek "I think that I am good" you would not restate
the subject "I" even though you would need to do so in English and Latin (isn't Greek
concise and awesome?!). Any adjective describing that implied subject would go in the
nominative for the simple reason that it is modifying the subject of the sentence. I put that
first sentence in all bold as it is indeed a bold move on the part of Greek as it will seem odd
initially to you that Greek can leave out that subject accusative. I think that I speak for all
of us in saying that...

Aspect vs. Relative Time: Two Things the Tense of the Infinitive Can
Convey: the tense of the infinitive can indicate either aspect or relative time. As you
know, the aspect of the present is progressive or repeated while the aspect of the aorist is
simple. A perfect infinitive would emphasize the completion of an action (remember the 3
types of aspect: simple, repeated, completed). Relative time is straightforwardly conveyed
by tense: present tense for action simultaneous with main verb; future tense for action later
than the main verb; aorist tense for action before the main verb.
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Common verbs using this type of indirect statement: vouiCw and gnui (see
appendix for the present system of nui)

O 2ZKPATNS VOUICel TOUs HIKpoUs KUvas TTaidevely TOV Sfjuov.

Socrates believes/thinks that the small dogs are educating the people.

Note: in this sentence, the present infinitive is suggesting EITTHER that small dogs are
educating the people in an ongoing or repeated manner (aspect) OR that they are doing
this educating at the same time as Socrates is thinking about it (relative time). Context will
usually make it clear what the tense of the infinitive is doing in a given indirect statement.

N Zoon vouiCet elvat &yadr). Zoe believes that she is good.

Note: here you have a verb that introduces accus./infinitive type of indirect statement
and you can see the infinitive efvan ("to be"). There is no subject accusative because Greek
only expresses that when it is different from the main subject.

Compare these two sentences that report predicate nominative statements notice the
presence or absence of the subject accusative and the case of adjectives:

O Zwkpd&Tns vouiCel Tous pikpous kUvas eival ayadous.
Socrates thinks that small dogs are good. (accus. subject and acc. adj. to agree with that
subject)

O ZwkpdaTns vouiCel dyabos elvai.
Socrates believes that he (i.e. Socrates himself) is good. (nom. adj. because it agrees with
the main subject and no subject acc. because it is all the same subject)

In the first sentence, Socrates is not thinking about himself and so the subject of the
indirect statement needs to be explicitly stated. Conversely, in the second sentence,
Socrates 1s indeed thinking about himself and so the writer does not include the subject
accusative (there is only one person being discussed). As English speakers and Latin
students, you will have to supply that subject as we never say things like "I think to be
good" but rather "I think that I am good."

Overlapping English Construction Alert: we do have something very similar to the
accus./1nfinitive construction in English but I think it to be less common. I believe Greek
to be superior for making more use of this nifty construction. Do you think me to be right
in this?

All the Forms of w&s, maoa, wav (all, every; whole)
This is obviously an important word to know in any language and it will also give you a
preview of some of the exciting participial forms. As it turns out, this adjective is declined
exactly like an active first-aorist participle and so once you know one, you will know the
other! mé&s, m&oa, wé&v usually shows up in the predicate position and means "all." If it
appears by itself (without an article) in the singular, it means "every." If it is put into the
attributive position, the adjective means "whole" and stresses the unity or entirety of
something.

E.g., mavTes ol pikpot kUves "all the small dogs"; was kUwv "every dog"; 1) Tdoa &yop&
"the whole marketplace”
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Masculine Feminine Neuter

Nom. sg. mas Taoca mav
Gen. TavTos TAaons TavTos
Dat. TavTi TAOoT) TavTi
Acc. TAVTA Taocav TAav
Nom. pl. TAVTES Taoal TavTa
Gen. TAVTWY Taocdv TAVTWY
Dat. maoi(v) Tdoaig maoi(v)
Acc. TAVTAS Taoas TAVTA

Note: as you can see, this uses a mix of first and third declension endings. The feminine
endings use that charming variation on the first declension where the singulars have eta in
the nom./acc. and short alpha in the gen./dat. (the so-called "eta sandwich"--patent
pending!).

That is all for today...

DAY SEVEN: Comparatives and Superlatives, the Perfect Active, Some
Contract Verbs, and Participles!

A BRIEF GLANCE AT COMPARATIVES AND SUPERLATIVES:
What could be a better if not incomparable beginning to this day of Greek class?!
As with indirect statement, comparatives and superlatives in Greek are not difficult and

have constructions similar to English and Latin. Isn't Greek the best? No language is better
(see what I did there?).

FORMING THE COMPARATIVE ADJECTIVE!

There are a few common ways to form a comparative adjective in Greek. First (and most
commonly), the adjective gains a suffix -Tepos, -Tépa, -Tepov which is added to the base
of the masculine form of any adjective formed with the first and second declension (such
as Sikaios, a, ov). You can call it the "compTepative” (patent pending mnemonic!). To get
the base of the adjective, simply take off the -og from the masc. nom. sing. and there you
have it! This type of comparative adjective has the same endings as &yabds, 1}, 6v and so
just be on the lookout for the distinctive Tep near the end of the word!

Small Issue with the Vowel before the Suffix: Greek uses either o or w before the
suffix and it is quite easy to determine which one is appropriate (and of course, the Greeks
have this all figured out and so you need only worry about this when you are yourself
writing Greek). You simply look back to the vowel in the final syllable of the base. If that
syllable has a long vowel or diphthong (as in our sample base Sikai-), then you will see an
o before the suffix: dikaidTepos, SikaloTépa, dikaidTepov. If that syllable is short, then
Greek will use an w before the suffix: copcdTEPOS, cCOPLTépa, copcdTepov. This is a
consistent principle in that Greek likes to have a mix of short and long
syllables in these comparatives, and so long stems get the short vowel o
while short stems get the long vowel w. pas de probleme, n'est-ce pas? This doesn't
affect the meaning at all and really 1s just a small difference of a vowel in the middle of
comparative adjectives (and we'll see the same thing with superlatives below).

44



A Related Small Issue with the Quantity of Syllables: in determining whether
to add an omicron or omega, you need to know that a syllable can be long naturally (with
long vowels, diphthongs, and short vowels) or they can be long by position (a concept
familiar to you from scanning Latin verse). So, if a short vowel is followed by two or more
consonants or a double consonant (G, £, ), then that syllable is considered long for this
issue of whether to add an omicron or omega before the -Tepos, a, ov in comparative
adjectives. E.g., €00A6s ("good") has no fewer than 3 consonants after that epsilon. Even
though epsilons are naturally short, here the syllable would be considered long by position
(i.e. the position of the epsilon before those three consonants) and so the comparative
would be ¢66A6TEpOS, a, ov (long syllable at the end of the stem and so short vowel before
the Tepos, a, ov).

As mentioned above, there are a few other ways to form a comparative
adjective. Here are some common types:

--Third declension adjectives ending in -1s, -€5 form the comparative by adding -Tepos, -
Tépa, -Tepov directly to the base ending in -es. E.g., the positive degree adj. &Anris,
aAnbés ("true") becomes aAnbéotepos, aAnbeoTtépa, dAnbéoTtepov in the comparative
degree.

--Third declension adjectives ending in -cov, -ov (eUdaipcov, ov), similarly form the
comparative by adding -Tepos, -Tépa, -Tepov directly to the base ending in -ov. So,
eudaipcov, eldaipov becomes eUSAIUOVESTEPOS, EUBAIUOVECTEPQA, EUDAUOVECTEPOV.

The above comparatives are easy to form and use simple first and second declension
endings (and so no need to write out their forms here). I will write out the next common
type of comparative as it is third declension and it has several common alternate endings:
--If you have an adjective like n8Us, 1d¢ia, ndY ("sweet"), then the comparative is a two-
termination 3rd declension adjective with the nom. singulars in -1cov, -1ov. There are also
some first-second declension nouns ending in -pog that also form their comparatives in -
1wV, -1ov. For instance, aioxpds, &, 6v ("foul") has this as its comparative: aioxicov,
aioxtov. Here is a sample of this type of comparative declined for you (and note the
common alternate forms).

Comparative Adjective for 1dus, n8eia, 11dU sweet, pleasant:

Masc./Fem. Neuter
Nom. sg. Ndicov ndov
Gen. ndiovog ndiovog
Dat. ndiowt ndiowt
Acc. ndlova/ ndiw ndov
Voc. ndiov fdiov
Nom. pl. ndioves/ ndious ndlova/ ndiw
Gen. ndidvwv ndidvwv
Dat. ndiooi(v) ndiooi(v)
Acc. ndiovas/ ndious ndlova/ ndiw

Note: watch out for the alternate endings as they can be a bit tricky to recognize. They
are simple contractions of the regular endings but end up looking a bit similar to endings
from the second declension (r}8ious) or even a bit like verbs (18ic). You need to know
these forms well as there are a number of very common irregular adjectives that use these
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exact forms for their comparative degree (see appendix for more on the irregular
comparatives).

For instance, ayabds, 1}, v ("good") has three common irregular comparatives:
aueivaov, &uetvov ("better” in ability or bravery)

BeATicov, BéATiov ("better” in morals)

KpeiTTwv, kpeiTTov ("better” in strength)

Note: all of these comparatives use the exact same forms as written above for 18icov,
fi81ov, including the same alternate forms (and so apeiveo, BeATic, kpeiTTw, K.T.A.).
Silver Lining Note: Those comparatives are only "irregular” in the sense that the
comparatives don't use the same stem as the positive degree but they follow the 18icov,
fidlov pattern literally to the letter.

SUPERLATIVE ADJECTIVES! They're the best!
The superlatives are very easy to form and have many similar patterns as the
comparatives. The most common way to form a superlative is to add -TaTos, -T&Tn, -
TaTtov to the base of the adjective. As with comparatives, there will be either an omicron
or an omega right after the base (and just before -taTos, -t&Tn, -Tatov) and the rule is
exactly the same as it was for the comparison. A long syllable at the end of the base will
then mix with the (short) epsilon while a short syllable at the end of the base will be put
with an omega. The idea is to have a mix of long and short syllables (and so either long-
short or short-long) and the same rules about long syllables (naturally long or long by
position) apply (see above). So, 8ikaots, a, ov will have for its superlative SikaidTaTos,
n, ov because the syllable at the end of the base has a diphthong (at). Conversely, cogds,
1, 6v will have for its superlative copcoTaTos, 1, ov because the syllable at the end of the
base is short (06¢-). You can call this the "superlataTive." Note that the superlative
always has three terminations while the comparatives sometimes have three and other
times two. Here are some more ways to form the superlative adjective:
--For adjectives in -ug, -gTa, -v, the superlative adds -1oTos, -ioTn, -loTov to the
base. So, the superlative for 18Us, 1dela, 118V is fidioTos, 11dioTn, HSioTOoV.
--For first-second declension ending in -pog, the superlative is formed in the same
way. So, aioxpds, &, ov has for its superlative degree aloxioTos, aioxioTn, aioxioTov.
--For third-declension adjectives ending in -ng, -€g, the superlative will similarly
add -TaTog, -taTn, -tatov directly to the base ending in -€s. So, the superlative for
aAnO1js, -€s is aAnbéoTaTos, adAnbectdTn, dAnbéoTaTov.
--For third-declension adjectives ending in -wv, -ov, the superlative adds -
TaTos, -T&TT, -TaTtov directly to the base ending in -ov. So, the superlative for
gudaiucov, eldaipov ("fortunate") would be eudaipovéoTaTos, eUdaigoveoTdTn,
eUSaipovéoTaTov.
Note: in all the types of superlatives mentioned in this paragraph, there is no omicron or
omega placed after the end of the base.

MAKING COMPARISONS IN GREEK!
There are two ways to make comparisons in Greek:
1) Genitive of Comparison: the person or thing compared is put into the genitive case
(without a preposition) cf. ablative of comparison

2) the person or thing compared is put after the word 7} (which functions just like "than").

In this type of comparison, the two things compared are in the same case. 1j functions here
like the Latin quam (think of the Latin construction as the quamparative).
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There is no difference of meaning in the two types of comparison and here is an example
of how you can use either method of comparison and say the same thing:

O ZwKPATNS dKa1dTEPSS EOTIV EKEivou ToU avBpcdTou. Socrates is more just than that
man. (this uses the genitive of comparison and you must add the word "than")

Enclitic Accenting Note for Those Interested (i.e. all of you!): Sikadtepds
¢oTw is accented like this because you have a word accented as far back as possible (acute
on the antepenult or circumflex on penult) with an enclitic word directly following it. In
that situation, the first word picks up a second acute accent on the ultima. That acute
doesn't change to a grave as it normally would with another word following. This is
because the enclitic is not an ordinary word and the shift to grave accent doesn't apply
when the next word is an enclitic. This is one of the scenarios where the enclitic itself
doesn't have an accent. Now you know some of the charming enclitic accenting rules!

O ZwKPATNS dIKa1OTEPOS EOTIV 1) EKETVOS O GVBpoTTOS. Socrates is more just than that
man. (here the two things compared are in the same case and the thing compared has 7} in
front of it).

DATIVE OF DEGREE OF DIFFERENCE (cf. abl. of degree of diff.)
To express how much the two people or things differ, the Greeks put the clarifying word
(often TOAAG) into the dative case without a preposition. We call this the dative of degree
of difterence and it functions just like the ablative of degree of difference in Latin. Greek
can also express this degree of difference with an adverbial accusative such as oAU (cf.
English use of "much" in the phrase "much more")

6 ZcokpdTns TOAAG BikaidTepds EoTiv ekeivou Tou &vBpcomou. Socrates is much more
just than that man (literally "more just by much").

6 ZokpATNS TOAU SikatdTepds EOTIV T EkeTvos 6 &vBpwTTos. Socrates is much more just
than that man.

PARTITIVE GENITIVE (aka genitive of the whole)
You have undoubtedly encountered this case use out there on the Latin streets (and also in
English) and it functions in the same way here in Greek. When specifying a part of a
group, the entire group is put into the genitive case. We use "of" in English as in the phrase
"one of the students adopted a dachshund." The underlined part would be a partitive
genitive in Greek or Latin. The partitive genitive is very common after superlatives as in
the phrase "the best of times" or "the best of the Achaeans." It is also common after
numbers (e.g., "five of us"). Some students find the term partitive a bit unintuitive since
the whole group is put into the genitive and not just a part of the group. Some textbooks
use the term genitive of the whole which suggests more clearly that the whole group is put
into the genitive case. Here are several examples:

6 ZKPATNS TAVTV TAV TOAITwWY SikaidTaTtds ¢oTv. Socrates is the most just of all
the citizens.

ToAAol TGV avbpcdmeov cogoi eictv. Many of the people are wise.

TIves TGV ayabddv eimov TalTa. Some of the good people said these things.

TEVTE TAOV 0TPATIWTAOV EAtTrov TNy TéAw. Five of the soldiers left the city.
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ADVERBS
The most common way to form adverbs is to take the genitive plural of an adjective and
change the ending from -cov to - (and so this ending is much like the English adverbial
suffix -ly). E.g., the adjective Sikaiog becomes the adverb dikaicos.

To form the comparative adverb, the Greeks simply used the neuter singular acc.
from the comparative adjective. So, SikaidTepov is either the neuter acc. comparative
adjective or the comparative adverb ("more justly").

To form the superlative adverb, the Greeks simply used the neuter acc. pl. of the
superlative adjective. So, dikadTaTa is either a neuter plural superlative adjective ("most
just [things]") or a superlative adverb ("most justly").

To make a superlative adverb even more emphatic, the Greeks put cog or 8T1in
front of it. E.g., cog/ 61 dikatdTaTa "as justly as possible." As you know, Latin does the
same thing with quam + superlative (e.g., quam celerrime)

TRANSLATION NOTE FOR COMPARATIVES AND SUPERLATIVES
When translating the comparative adjective/adverb you can render it in two ways
(depending on context): "more just/justly" or "rather just/justly." Similarly for the
superlatives, you can render them as "most just/justly” or as "very just/justly." The option
to say "rather just/justly" or "very just/justly" is called the absolute translation of the
comparative and superlative.

EXPRESSING COMPARATIVES AND SUPERLATIVES WITH
ADVERBS
In addition to utilizing the comparative and superlative adjectives and adverbs, the Greeks
also used paAAov and p&Aiota with positive-degree adjectives/adverbs to convey these
ideas:
nu&AAov ikaios = more/rather just (and so = Sikaidtepos, a, ov)
u&AAov Sikaiws = more/rather justly (and so = SikaidTEPOV)
HaAloTa Sikatos = most/very just (and so = SikadTaATOS, 1), OV)
H&AloTa Sikaicos = most/very justly (and so = SikaidtaTa)

PERFECT ACTIVE INDICATIVE (Principal Part 4)
Believe it or not, you have now learned the four of the six principal parts for a typical
Greek verb: 1 (present/imperfect), 2 (future), 3 (aorist act/mid.), and 6 (aorist/future
passive). We will now briefly take a look at the perfect active indicative which is the fourth
principal part. It is not considered a past tense and so is never augmented. The perfect
is in fact considered a primary tense for matters of sequence. This tense is used to
emphasize the completion of an action and/or a present state resulting from a completed
action. It is usually translated (using our friend AU as an example)"has freed" (AéAuke)
but can also be rendered as a present to represent a consistent state of mind in the wake of
a completed action: wémoBa "I trust, am confident" (perf. of meiBco "persuade”). Unlike
Latin, Greek never uses the perfect tense as a secondary tense. The Greeks form the
pluperfect with an augmented perfect stem (and a distinct set of pluperfect endings--see
appendix if you are curious!) and that is of course a secondary tense. The Greeks don't use
the pluperfect as often that Romans used theirs and you will notice on the Greek streets
places where they use other past tenses instead of the expected pluperfect (e.g., past
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contrary-to-fact conditionals use aorists but it is to be translated as "if...had freed,
then...would have freed").

After today, you will know all the principal parts except for the often charming fifth
principal part (see appendix for a brief overview). quam gelidum!!!

The perfect active indicative is not hard to form and uses almost exactly the same endings
as the first aorist active indicative (only the 3rd plural is different). It is also a very
distinctive looking principal part in that it has a reduplicated stem and often (but not
always) a kappa at the end of the stem. Most verbs reduplicate their stem by repeating the
first consonant and putting an € in between the two identical consonants. If a verb happens
to begin with a vowel, then that vowel is lengthened and that serves as the reduplication
(e.g., Nxa is the perfect of &ycd; ). There are distinct patterns for this tense and you will
become accustomed to them as your vocabulary grows each day for the rest of your life.

Here are a few things to look for:

--the vowel in the stem often changes to o (AeiTreo--) AéAoima; meibeo--) wémoifa)
--the final (labial/palatal/dental) consonant in the stem can shift to its aspirated friend:
TEUTT--) TETOUPA &y w--)TIXA

--if a verb begins with two (or more) consonants, a sigma, a rho, or with a double
consonant (G, €, ), then the Greeks use an epsilon at the front of the form (but this is a
reduplication and just happens to look just like the syllabic augment):

CnTéw (seek--cf. common English adj. zetetic) --> éCriTnka (note the kappa that helps
distinguish it as a perfect; the aorist for this verb is ¢{rjTnoa)

piTTTw--) éppipa (note that the rho is also doubled)

oknvéw (dwell in a tent) --> éokrjvnuat (perf. middle "I have dwelled in a tent")

Perfect Mnemonic Alert: you can think of this distinctive kappa as the Special K (a
cereal that the Perfect has eaten often at the Grammar Café).

As a brief review and as a way to see the similarities between the first aorist and perfect, I
have written out the endings for both (followed by samples of the perfect act. indic.).

1st AORIST ACTIVE INDICATIVE PERFECT ACTIVE INDICATIVE
Singular Plural Singular Plural
1 -a -QEV -a -QEV
2 -ag -aTe -ag -aTe
3 -e(v) -av -e(v) -aot(v)
Infinitive -al (AUoaun) -¢vat  (AeAukévan)

Note: asin the 1st aorist act. indic., every a is short in the perfect active indic. endings.
Note: as mentioned above, the 3rd plural endings are the only place where these endings
differ.

SAMPLE PERFECT ACTIVE INDICATIVES!

VA Todevw TTEUTTCO dyw Yylyvoual BA&TTw
1sg.  AéAuka Temaideuka  TMETOUPQ nxa  yéyova BéBAaga
2 AéAukag Temaidevkas TETOUPAS  TIXAS  YEyovas BéRAagas
3 AéAuke(v) memaideuke(v) mémou@e(v) Tixe(v) yéyove(v)  PéRAage(v)

I pl.  AeAUkapev  TemoudeUkapey MeTOUPAUEY TiXapeV Yeyovauey PePAdpapev
AeAUkaTe memoudeUkaTe  TEMOUPATE TiXaTE yeydvaTte  BeBAdpaTe
3 AeAUkaol memadeUkaol  meméupact fixaot yeydvaor  PBePAdpaoct

49



Infin. AeAuxévai Temaudeukéval TeTopPéval Nxévar yeyovévar  BeBAagéval

Note: yéyova is the perfect act. indicative from the deponent verb yiyvoupat. This is a
charming verb in that it is one of the (small number of) Greek verbs that reduplicates its
stem in both the present and perfect tense (cf. y1yvaokew "know"---) €yveoka). Note that
the present stem reduplicates with an iota in between the consonants as opposed to the
perfect which uses an epsilon. Sometimes one letter can make an iota of difference! You
should write a thank-you letter to Iota (your choice which letter...).

A PERFECT VERB TO KNOW! (plus the pluperfect endings as a bonus!)
ofda is an irregular verb that only has forms in the perfect system (perfect and pluperfect)
for the most part (there is a deponent future elcopai that appears on occasion). The verb
is related to the verb "to see" (aor. eidov) which makes sense to the Greeks as seeing and
knowing are clearly linked for them (Aristotle declares sight to be the important of the
senses). They are for us as well if you think about it. Do you see what I mean? This is a
very common verb and so it is important for you to know all of its forms (see what I did
there?). The perfect of this verb is rendered as a present and the pluperfect is rendered as
an imperfect (a phenomenon that happens on occasion as with the verb 8é81a/8édoika
"fear"). For the sake of reference, I have written out the regular pluperfect endings as well
along with a sample (pluperfect of AYw). As you undoubtedly remember from Latin, you
translate the pluperfect with "had _ -ed" (EAeAUkn "had freed"). Note again that it has the
same stem as the perfect but is augmented and has a special set of endings. Like the
imperfect, the pluperfect has no infinitive. Just as the present and imperfect form the
present system, the perfect and pluperfect form the perfect system.

PERFECT PLUPERFECT REGULAR PLUPERFECT
1 sg. oida Bon - EAEAUKD
2 olcfa (oidas) fdnocba ns  éAeAUkns
3 o1de(v) 18e1(v) - EAEAUKD
1 pl. {ouev TiOUEV -EUEV  EAEAUKEUEV

{oTe foTe -eTe  €AeAUKeTe
3 {oaoci(v) noav -ecav ¢AeAUkecav
Infinitive: eidéval

Note: all of the pluperfect forms of oida have an iota subscript.

CONTRACT VERBS (alpha and epsilon types)
There is a very charming group of verbs whose stems end in the vowels a, €, and o, and
those vowels contract with the regular verb endings (well, really the theme vowels €/0 right
before the actual endings) but only do so in the present system (i.e. the present and
imperfect tenses--and yes, that includes present subjunctive, optative, imperative,
participles, and infinitives as well...woohoo!). As a kind of silver lining, the contract verbs
are usually very easy and pleasantly predictable outside of the present system. The
contractions themselves are also extremely consistent and so once you learn how to
conjugate one alpha contract, you know them all, and that is also true for epsilon and
omicron contract verbs too. These contractions happen in the Attic dialect (as Attic loves
to contract whenever it can--you really need to personify the dialects as it makes all this
even more fun!) but when you get the awesome opportunity to read some Homer and
Herodotus, you will see these same verbs without the contractions. There is nothing
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difficult conceptually about the contract verbs and they are not hard to recognize once
you spend a bit of time with them on the Greek streets.

Extra Vocabulary Bonus: contract verbs often have familiar roots you have seen in
common nouns: e.g., 1 vikn "victory" and the contract verb vikaw "conquer; 1) T
"honor" and the contract verb Tiuéew "honor"; 6 pidos "friend" and the verb giAéco "like"
(as you like your friends, right?!).

There are really two ways to learn these types of verbs. You can learn the contractions for
each type of contract verb (alpha, epsilon, and omicron). They are not difficult and the
contractions do occur elsewhere such as the occasional "contract nouns" (e.g., véos "mind"
which shows up contracted in Attic as voUs). Alternatively, you can just memorize a
sample verb of each type and rest assured that you will then know all the other contract
verbs (as they really are incredibly predictable and consistent).

PRESENT INDICATIVE of Tiuéew (honor) (SAME AS PRESENT SUBJUNCTIVE)
In a wonderful twist of linguistic fate, the present indicative and subjunctive forms are
exactly the same. I have put the uncontracted forms in parentheses so you can see what
they look like without these charming vowel collisions (i.e. how they look outside the Attic
dialect).

PRES. ACT. INDIC./SUBJUNCTIVE PRES. MID.-PASS. INDIC./SUB]J.
Isg. T® (Tinde) TIMGOUAL (Tindopar)

2 TGS (Tinders) T (Tidn/Tipde)

3 T (Tnder) TIMETAL (TipdeTan)

I pl.  TipdOpEY (Tindopev) TIMCOUEDa (Tinadueba)

2 TIMATE (TwpdeTe) TINAGOe (Tipdecbe)

3 T o1(v) (Tindovoi(v)) TIHOVTAL (TindovTat)

Infin.: Tpév (Tipéew) TIna&oOat (Tipdecbar)

I am about to write the two straightforward contraction rules below but note first that
there are only two possible results of contraction with this type: an alpha (sometimes with
an iota subscript) or an omega.

1. a + any E sound (g, €1, 1, 1)) will yield a long a of some sort (and any iotas will drop to
iota subscripts):

ae ) o

an» a

aEL))

on )

2. a + any O sound (o, o1, ou, w) will yield an omega (and any iotas will drop to iota
subscripts):

o)) w

aw ) w

aou ) w

aol)) w
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Note: the present indicative and subjunctive look the same because the contractions all
yield the same combinations of either long alphas or omegas.

Note on the Charming Accents for Those Interested: for those curious about
why these verbs seem to violate the accenting rules, you must consider how these verbs
would be accented were they not contracted at all (and this is another reason I gave you
the uncontracted forms in parentheses). These are the general principles:

--if the accent on the uncontracted forms cannot manage to skip over both contracting
vowels/diphthongs in its familiar race to reach the antepenult, then the verb form receives
a circumflex over the site of contraction (commemorating the collision of vowels, like the
scene of a linguistic accident along Grammar road, as it were).

--if, however, the unaccented form happens to have a short ultima and so can gleefully
skip over the site of contraction, then that verb form is just accented normally with an
acute on the antepenult (remember that verbs generally want to have an accent on the
antepenult). This only happens once in the present forms: 1st plural present mid-pass.
indicative (or subjunctive) Tincopeda. You will see more of this in the imperfect indicative
below. The accents on the uncontracted forms are completely normal (i.e. they follow the
regular rules) and make sense with the regular accenting rules. It is only in Attic that you
get these seemingly odd accents as things contract and the circumflex gets used to
commemorate the site of contraction, k.T.A.

IMPERFECT ACTIVE INDICATIVE IMPERFECT MID-PASS. INDICATIVE

Isg. ETtincov (étipaov) ETILCOUNV (¢Tinadunv)
2 éTinag (étipaes) ETIUGD (¢Tdou)

3 ETiUa (étipae) ETIUATO (éTipdeTo)

I pl. éTipdouev (éTiwdopev) ¢Tincopeba (ETinadusba)
2 ETINGTE (éTipdeTe) ETIUGOOE (éTipudecHe)

3 ETilooV (étipaov) ETIUAOVTO (éTipdovTo)

Accenting Note: You can see from the uncontracted forms in parentheses that when the
accent manages to go back further than the colliding letters, then you will see an acute on
the antepenult (it might be on the penult in the contracted forms such as étipa where the
final alpha is long and so the accent can't go further back than the penult). Otherwise, the
accent 1s a circumflex over the site of the collision. Of course, if the collision of vowels and
diphthongs happens way back on the antepenult, then you would still get an acute on the
antepenult, since under no circumstances in Greek can the circumflex ever go back further
than the penult. The 1st plural mid-pass. éTiucOpeBa is a good example of that as you can
see when you look at the uncontracted form in parentheses: éTinaduefa. Again, you don't
really need to know these rules thoroughly to read Greek successfully but they undeniably
accentuate the fun you have on a given day at the Grammar Café.

Serious Silver Lining with the Subjunctive and Optatives of alpha
contracts: as you know, the indicative and subjunctive forms for the alpha contracts are
exactly the same. The optative mood is also quite easy since there is just ONE contraction
that happens throughout the paradigms: a + o1)) ¢o. There are two sets of forms for the
present active optative and both are common (with no difference in meaning).

PRESENT ACTIVE OPTATIVE PRESENT MID-PASS. OPTATIVE
Isg. TOM TIUCONV TIUCOUNV
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2 TIHEDS TIMEONS TIHGDO

3 TIUGD TIMCOT TIUGITO

Ipl.  TipGuUeY TIUCOTMEV TIHWMEDa

2 TIUGDTE TIMCONTE TIUGOOE

3 TIMCIEV TIUEN oAV TIMGOVTO
EPSILON CONTRACT VERBS

These are a related group of common verbs whose stems end in epsilon. The Attic dialect
(as you already know) loves contraction and so the epsilon contracts with the regular
endings (again, really the theme vowel €/0 before the actual endings) of the present and
imperfect. I won't go into as much detail about these as the basic idea is the same. There
are a few charming contraction rules with which you can generate and understand why all
the forms look the way they do. The most important rules are as follows:

--€ +0)) ou

--€ gets absorbed into any long vowel or diphthong

--1otas as usual drop down to iota subscripts

As usual, the rules for contraction apply to all forms in the present system and also applies
to infinitives and our new friend the participle (see below!).

I will just write out the present and imperfect indicative forms (with the uncontracted
forms in parentheses) and leave the subjunctive and optative forms for another fuépa.

PRESENT ACTIVE INDICATIVE PRESENT M-P INDICATIVE

lsg. moid (Toléw) TroloUpal (TTotéouat)

2 Tolels (Trotéers) Tolel/ Toufj (Trotéel/ oién)

3 Tmolel  (Troiéer) TolelTal (Troéetan)

1 pl.  TmoloUuev (Troiéopev) Trolovpueba (Troiedueda)
TrolelTe (TTOléETE) Trolelofe  (TroiéecBe)

3 Trotouoi(v) (troiéouci(v)) TolouvTal (TrotéovTat)

Infin: Troielv (TToiéetv) Troletiofan (Troiéecbat)

IMPERFECT ACTIVE INDICATIVE IMPERFECT M-P INDICATIVE

1sg. €moiouv (gtroieov) gmolovunv  (émoiedunv)

2 gTrolelg (&troiees) gTToloU (¢roiéov)

3 ¢Troliet (éroiee) ¢TOLETTO (éTroiéeTo)

1 pl. émoloUuev (éTrotéopev) ¢molovueba  (émroiedueda)

2 ETTOLETTE (éTroréeTe) ¢Toleiobe (éTroiéecBe)

3 ¢roiouv (émroieov) ¢molotvto  (émoiéovTto)
PARTICIPLES

You will be happy to know that participles work in Greek very much the way they do in
Latin. You have a real advantage as Latin students when learning the Greek participles.
For instance, Greek has a genitive absolute but it functions just like the Latin ablative
absolute (cf. English and its nominative absolute). This being the case, remember that
participles are essentially verbal adjectives and so they always have one foot in Verb Land
and the other in Adjective Land. They have tense (present, future, aorist, perfect) and
voice (active, middle, passive) just like verbs. They also have gender, number, and case just
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like adjectives. Unlike Latin, Greek has a present passive participle and also a perfect active
participle (both oddly missing in the Latin participial system as you know). Just as in
Latin, Greek has no imperfect or pluperfect participles.

Tense in Participles!
The tense of a participle can show either aspect (simple, repeated, or completed) or relative
time (relative, that is, to the main verb). We encountered tense as showing aspect back
when we first learned about the subjunctive and optative. We talked about tense as
showing relative time when discussing infinitives.

Relative Time in a Participle: the tense of a participle can tell you whether the
action happened before the action of the main verb, at the same time as the main verb,
and after the main verb. The aorist participle talks of an action that preceded the main
verb. The present participle indicates an action simultaneous with the action of the main
verb. The future participle indicates an action to take place after that of the main verb.

It is usually obvious from context whether the tense of a participle is indicating aspect or
time relative to the main verb. You will become used to this ambiguity and you may even
in time find it to be something xapiev (charming).

There are 3 common uses of the Greek participle: attributive, circumstantial, and
supplementary. We will focus here on the first two uses but briefly mention the third type.

How to Form Participles!
Before going over the uses of the participle, let's look at the forms. They use endings you
are already very familiar with: 3rd declension endings in the masculine and neuter forms
and Ist declension endings in the feminine forms.

PRESENT ACTIVE PARTICIPLE

Masculine Feminine Neuter
Nom. sg. AUcov AVYovoa AUov
Gen. AUovTtog Avovons AVovTog
Dat. AvovTi Avovon AvovTi
Acc. AVovta Avovucav AUov
Nom. pl. AUovTes AVYovoai AVovTa
Gen. AudvTtov Avoucv AudvTtov
Dat. Avovuci(v) Avovocalg Avovuci(v)
Acc. AVovTasg Avovoag AVovTta

Note: the masculine forms are identical to the 3rd declension noun yépcv, yépovtos 6
"old man."

Note: watch out for the dative plurals in the masculine and neuter forms as they could
easily be thought to be verb forms with the -ouot ending.

Accenting Quirk Alert: the fem. gen. pl. form is accented with a circumflex on the
ultima (just like all first declension nouns). This is true for all feminine participles whose
nom. sing. ends in short alpha. Note that the feminine sing. endings above use that
variation on the first declension of short alpha in the nom. and acc. and eta in the gen. and
dat. singular (the so-called eta sandwich which can be purchased at the Grammar Café).
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Future and 2nd Aorist Active Participles

The future active and second aorist active participles decline just like the present active
participles above and the only differences are in the stem. So, for instance, the future
active participle in the masculine nom. sing. is AUocov (cf. pres. AUcov) and the second
aorist active masc. nom. sing. form is Atrrcov. There is an accenting quirk in the second
aorist active participle in that the accenting is always on the syllable directly after the stem
(and so can be either on the penult or ultima depending on the particular case ending).
So, the singular for the masculine 2nd aor. act. participle is as follows: Aircov, AirrévTos,

AirévTi, Aimévta.

Accenting Note: the accent on all participles is persistent and follows the masculine

nominative singular.

First Aorist Active Participles

These participles are declined exactly like the adjective T&s, m&oa, wév (see above at the
end of Day 6) but as these participles are very common and important, [ will write them

out here:

Masculine
Nom. sg. AUoas
Gen. AUcavTog
Dat. AUcavTi
Acc. AVcavta
Nom. pl. AUoavTes
Gen. AucdvTwv
Dat. AVoaoci(v)
Acc. AUcavTasg

Feminine
AVocaoa
Avcdons
Aucdon
AVcaocav

AVUocaocal
Avcdocwv
Avcdoaig
Avcdoag

Neuter
AUcav
AUcavTog
AUcavTi
AUcav

AVcavTa
AucdvTwv
AUoaci(v)
AVcavTa

Note: the masc. and neut. dative plurals have undergone some interesting linguistic
changes very similar to that found in the present participle and also in the third declension
noun yépev. The original dative pl. form was *AUcavTol and after the vt dropped, the
normally short alpha was lengthened to a long alpha. So, even though it is not as clear as
our earlier examples (because the alpha looks the same when short or long), this is
nonetheless another moment where compensatory lengthening happened.

Masculine
Nom. sg. AeAukcds
Gen. AeAukdTog
Dat. AeAukdTL
Acc. AeAukdTa
Nom. pl. AeAukdTeg

Perfect Active Participles

These are not hard to form if you keep in mind that the usual nu in the masculine and
neuter forms is not there but the endings are otherwise quite recognizable (perfect stem
plus these modified endings). The neuter. sing. nom/acc. has -og instead of the expected -
ov...if you think about it, those forms will provide for you Enless Fun (patent-pending
mnemonic!)! The feminine active participles use first declension endings but have -ut after
the stem and before the endings.

Feminine
AeAukuia
AeAukuiag
AeAukuia
AeAukuiav

AeAukuial

Neuter
AeAukds
AeAukdTog
AeAukdTi
AeAukds

AeAukdTa
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Gen. AEAUKOTWY  AeAukuiddy  AeAukdTwv
Dat. AeAukdoi(v)  AeAukuials  AeAukdoi(v)
Acc. AeAukdtas  AeAukuias AeAukdTa

Fun Game Alert: compare the masculine forms with AUcwv, AVovtos, AUovTi, AVovTa,
AUovTes, Audvtawv, AUouct(v), AovTas. Say them aloud next to each other. That's the
whole game! Enjoy!

Accent Note: the accent consistently goes on the syllable right after the end of the stem
for the masculine and neuter while the feminine accents are all over the -ut infix (with the
pretty unsurprising exception of the genitive plural).

Middle-Passive Participles!
These are even easier to form than the active participles (for the most part) and
wonderfully consistent. The Greeks just added -éuevos, -opévn, -Ouevov to the stem and
declined them like simple first-second declension adjectives. This works perfectly for the
present middle-passive, future middle, and second-aorist middle participles! You
undoubtedly recognize this sort of ending as it shows up in English words like
"phenomenon" and you will now understand why "phenomena" is the correct plural form.
Here are the present middle-passive participial forms for AU and remember that you
would just have to change the stem to create the future middle and second-aorist middle
participles.

Masculine Feminine Neuter
Nom. sg. Auduevos Avouévn Auduevov
Gen. Avopévou Avouévng Avopuévou
Dat. Avopéve Avouévn Avopéve
Acc. Auduevov Avouévnv Auduevov
Nom. pl. Auduevol Auduevai Audueva
Gen. Avouévcov Avouévcov Avouévcov
Dat. Avopévolg Avopévaig Avopévolg
Acc. Avopévous  Avopévas Audueva

Accenting Note for Those Interested! the feminine gen. plural will accent like the
masculine and neuter gen. plural if the forms themselves are the same in all three genders.

The second aorist middle participles have the same endings but change their stem to the
aorist. So, Airéuevos, Atrropévn, Airduevov, K.T.A.

The first aorist middle participle simply substitutes alpha for omicron and otherwise is
declined exactly in the same way: Auo&uevos, Auoapévn, Aucauevov, K.T.A.

Attributive Participles
Just as its name indicates, this is a use of the participle in the attributive position (meaning
that there is a definite article before it). It functions as an ordinary adjective and is often
best rendered with a relative clause in English. This is a very straightforward use of the
participle and it should not pose any problems for you. You can find this construction in
Latin and if you are curious, go to Allen and Greenough (AG 494) where they discuss the
present and perfect participles as occasionally being attributives. They give this example
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from Tacitus (Ann. 3.54): aeger et flagrans animus "his sick and passionate mind." In any
case, back to Greek!

6 Tadevwov &vBpcotos the educating man/ the man who educates

O &pxwv kUwv the ruling dog/ the dog who rules

Like any adjective, the participle can stand alone as a substantive: 6 &pxcv archon (lit.
"the ruling one" or "the one who rules").

Circumstantial Participles
The circumstantial uses of the participle are the most common types of participles in Latin
and Greek. The Greek circumstantial participle has the same range of meanings that you
can find in Latin and so you will add words such as "when," since," "if," "although,"
"while" "after" (k.T.A.) according to context and then you can translate the participle like a
verb. Remember that those introductory words are important as they indicate that this is
not a main verb but a circumstantial participial clause. As the name clearly indicates, the
circumstantial participle conveys something of the circumstances surrounding the action of
the sentence. Greek also has some helpful words that appear with participles and the
Greeks use them if they want to make it absolutely clear which valence to add to the
participle. I have included common ones in examples below (grouped by type). You will
notice that the same sentence can be translated in a number of ways depending on context.
Also note that the circumstantial participle is not in the attributive position and so you
shouldn 't confuse it with the attributive participle.

TadeUcov TOV Sfjuov, 6 ZwKpaTns elre TOAA& Trepl APETTS.

When educating the people, Socrates said many things about excellence (temporal)
Since he was educating the people, Socrates said many things about excellence (causal)
Although educating the people, Socrates said many things about excellence (concessive)
If educating the people, Socrates said many things about excellence. (conditional)

Helpful Little Words (that can disambiguate circumstantial participles)
--kaitep although --indicates a circumstantial participle is concessive
--6uws nevertheless --appears with the main verb and serves to indicate participle as
concessive.
--Gte, ola, since, because --appears with participle and indicates participle is causal (and
also represents writer's own opinion)
s can be used to indicate purpose or cause
Note: cos with the future participle is another way to express purpose. The future
participle alone can also express purpose and so cdg serves to make it clear that the future
participle is indeed being used for purpose (as opposed to future relative to the main verb).
Note: unlike &Te and ola, cog conveys the cause or purpose not of the author but rather
of the grammatical subject of the sentence (or someone else prominently featured in the
sentence). It can often be rendered as "on the grounds that" or "since (as they claim)..." the
speaker 1s no longer vouching for the truth of the statement, but just reporting it.

The use of negatives with participles: In the continuing saga of when to use oU or
un} in Greek, participles play an interesting role. Circumstantial participles use ov in all
situations unless the participle is conditional (where the negative would be urj). Similarly,
attributive participles generally use oU unless a general class of people is being described.
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E.g., ol €xovTes kai oi un éxovtes the ones who have and the ones who do not have (i.e.
"the haves and have-nots").

Supplementary Participles
This 1s the final use of the participle and here the participle is supplementing the meaning
of the main verb, and really providing the main action. Note that the case of the participle
can make a difference in meaning:
E.g., mavw Aéycov I stop speaking. (supplements the notion of stopping)
E.g., mavew tov &vbpwmov Aéyovta I stop the man from speaking (note the acc. case)

ACCUS./PARTICIPLE form of INDIRECT STATEMENT
The supplementary participle is also used to form the third and final type of indirect
statement. It is a variation on the accus./infinitive type we saw earlier. Here you will see a
main verb of knowing, showing, or perception and then you will see a subject accusative
plus an accusative participle:

oida TNV Zeonv Avoaocav Thv méAw I know that Zoe saved the city.

O 2ZKPATNS AKOUEL TOUS HIKPOUS KUvas TOV dijuov TTaldevovTas.
Socrates hears that the small dogs are educating the people.

Note: you must be careful to distinguish the accusative that is the subject of the participle
and an accusative that may be the object of the participle. You can tell here by the fact
that the acc. pl. masc. participle agrees with Tous pikpoUs kUvas. This kind of ambiguity is
also an occasional concern with the accus./infinitive type of indirect statement we saw
earlier. Context usually makes it entirely clear which accusative is the subject and which is
the object.

Supplementary Note: There are also several common verbs that take supplementary
participles. Here are two:

E.g., Tuyx&vw + suppl. part. = happen to be ....-ing

TUYX&vw avaytyvaokwy T& Tiis Zofis BiBAia. T happen to be reading the books of
Zoe.

E.g., p6&ve + suppl. part. = I anticipate someone in ...-ing

EpBavov Tous avBpcotrous dpcdvTes TOV HAtov T used to anticipate the people in seeing
the sun (i.e. I was the first to see the sun before the people).

DAY EIGHT: IMPERATIVES and SIGHTREADING for the rest of class!

IMPERATIVES
This is your fourth and final mood for Greek (except of course for happiness which is a
constant mood present whenever you read Greek). Imperatives are very straightforward
and familiar to you from Latin and English. Greek imperatives mostly work just like Latin
ones but Greek actually makes frequent use of its third-person imperatives (whereas Latin
would generally prefer to to use a jussive subjunctive instead). Tense in the imperative
shows aspect only and so the present imperative indicates repeated or progressive action,
while the aorist indicates a one-time action. The rare perfect imperative is used to
emphasize the completion of the act, but I won't list those forms because they are so
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uncommon. There is no first-person imperative as you would just use the hortatory
subjunctive in that situation. Let us proceed!

Imperatives are quite easy to form. Trust me! (do you see what I did there?) Just take the
appropriate tense stem and add these endings. There will never be an augment on any
imperative because, as you know, you only augment the indicative!

PRESENT ACT IMPERATIVE PRESENT MID-PASS IMPERATIVE
2sg.  -E Taideve -ov Taidevou

3 -ETW TAIOEVETW -e0bw TToudevéohw

2pl. -eTe TodEVETE -eobBe Todeveohe

3 -OVTWV Tadeudv TV -e0Bcov TTadevéobov

Note: the second aorist act. imperative uses the same endings but of course has the aorist
stem (and so I am not writing them out here).

Note: in both sets of imperatives, the second-plural imperative are the same as their
indicative counterparts. You can only distinguish them by context.

FIRST AORIST ACT IMPERATIVE FIRST AORIST MID. IMPERATIVE

2sg.  -ov AUoov -al AUoal

3 -aTw AvodTw -aobw Auodobw
2pl.  -aTe AUoaTe -aofe AUoaobe
3pl. -avtwv AucdvTtoov -aobwv Aucdobeov

AORIST PASSIVE IMPERATIVE FROM AV
Note: the aorist tense conveys simple aspect and you still translate this as a regular
imperative looking ahead to the future (as is true of all imperatives--you can't order
someone to do something in the past unless you are in the middle of a time-travel movie).
This tense of the imperative is less common (as passive imperatives are generally not all
that common) but you do see it with deponent verbs and it is worth knowing in any case!

2sg.  AUBnmi

3 AubriTcw
2sg.  AUbnte

3 AubévTtcov

It is imperative that you now turn to the readings for the day as we will spend the rest of
the day reading and reinforcing all that you have learned in the past 8 days!!!

Remember that you have a lifetime subscription to the Greek Hotline! T am entirely
serious about that!
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APPENDIX of FASCINATING GRAMMAR I WISH WE COULD HAVE
COVERED IN CLASS!!!

PRINCIPAL PART 5: PERFECT MIDDLE-PASSIVE
Would that we had had time in class to go over this intriguing principal part. If all verbs
had stems ending in vowels, then we could have covered this principal in a few minutes
easily. This principal part is notable for lacking the thematic vowel o/¢ and so the endings
get attached directly to the stem. If the stem ends in a vowel, this poses no problem at all
and this is a perfectly straightforward principal part. The charm enters the equation when
a stem ends with a consonant and it collides with the endings without the nice theme vowel
to act as a buffer. That said, these types of consonant stem verbs are nicely grouped into
familiar categories such as labials, palatals, and dentals. There are a set of very nice
patterns and so once you learn the paradigm for, say, a palatal stem, then you know them
all. It is a bit like contract verbs in that there is an initially intimidating change in the
middle of the word but the endings are usually pretty clear and so these forms end up
much easier to recognize than to produce on your own. That doesn't mean that you
should ignore these paradigms but I am simply reminding you that your main goal here is
to read Greek and so your first job is to recognize forms (and the more intrepid among you
can go that extra mile and memorize every paradigm including the consonant stems for
the 5th principal part).

Let's start with the simple endings and an easy vowel stem AVw):

PERFECT MIDDLE-PASSIVE ENDINGS SAMPLE VOWEL STEM
1 sg. -pa AéAvpal
2 -oalt AéAvoal
3 -Tal AéAuTan
1 pl. -ueba AeAUpeba
2 -00e AéAuoBe
3 -vTal AéAuvvTal
Infinitive: -06at AéAucbat

Intervocalic Sigma Alert: this is one of the places where the intervocalic sigma does
NOT drop and so you get a rare chance to use the original 2nd sing. primary middle-
passive ending -cat. You may recall that usually

Silly Mnemonic Alert: when chanting the singular endings, it sounds like a beverage
you can order at the Grammar Café: I will have a medium -pat -cat -tat. Or maybe I
will bring the latté to BaA&TTr as we imagined way back on Day 2...Remember these
when you bring this mini-textbook to the beach. Greek in 8 Days is most definitely beach-
readable!

PERFECT MIDDLE-PASSIVE: CONSONANT STEMS
These have a somewhat fierce reputation and they are a bit challenging here and there but
remember that they fit into a reasonable number of distinct and very consistent patterns
arranged by familiar consonant types (labials, palatals, and dentals are the most common).
You do have to keep track of what type of consonant stem you are dealing with but there
are several places in the Greek verbal system where that is helpful (futures, aorists, etc.)
and so this is really nothing new. As mentioned above, the lack of theme vowel between
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the end of the stem and the endings makes all of these consonantal collisions necessary.
One silver lining for all these consonant stems is that the charming collisions occur near
but not at the very end of the word. The actual endings of the verbs are usually still quite
recognizable and so in the end, this tense is not all that fearsome but really just another
charming corner of Greek grammar.

Just for the sake of review, here again are three of the most common consonant groupings
you need to know:

Labials: 1, B, @, y (the double consonant \ represents Trs)

Palatals: K, y, X, & (the double consonant § represents kg)

Dentals: T, 8,8 (remember them as "the dentals" remember that dentals drop before
sigma)

As with the contract verbs, you can learn the rules for the collisions (here of consonants
while the contract verbs dealt in vowels) or you can just memorize a sample for each type.
In the case of the perfect middle-passive consonant stems, I strongly recommend
memorizing a sample verb for each type as the patterns will sink in as you see more
examples. Here are samples for these three types (labial, palatal, dental):

Labial Palatal Dental
YPAPwW ayw meibeo
1 sg. YEYpauual Nyual TETEICU QAL
2 Yéypayal nEat TETEICQL
3 YéypamTal nKTal TETTEIOTAL
1 pl. Yeypauueda fyueba Temeiopeba
Yéypagbe N0 Témelobe
3 Yeypauuévol ot nNYuévol eiot TETTEIOUEVOL ElCT
Infinitive yeypagpbal nxai Temelobal
Participle YEYPOUUEVOS, T), OV T YHEVOS, T}, OV TIETIELIOUEVOS, T), OV

Note: because the 1st singular and plural endings begin with the same consonant, those
forms end up looking very similar. It may be helpful for you to recall that the first person
forms experience the same consonant collision and thus look quite similar: -pp for labials, -
yu for palatals, and a cool metamorphosis for the dentals (they change into sigmas except
for endings that already begin with a sigma--in that case, the dental just drops).

Note: the 2nd plurals and the infinitives also undergo the same transformations and so
they will be similar to each other as you can see in the chart above. They are also quite
distinctive in ending up with two aspirated consonants next to each other.

Note: the 2nd singular labial and palatals end up with the expected double consonants
and & respectively (because the stem consonant collides with the sigma in the ending).

Periphrastic 3rd Plural Alert: unlike vowel stems, consonant stems use a periphrastic
construction for the 3rd plurals. It consists of the perfect mid-pass. participle (pl. of course)
plus eioi (the 3rd plural present indicative of €iui).

Easy Participle Alert: As you can see, the participle has straightforward first and

second declension endings and it follows the same pattern as the 1st singular and plural
verb forms (for the simple reason that all of these have the stem colliding with ). The
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perfect middle-passive participle has a fixed accent on the penult. Given how easy the
participles are to form, there is no need to write them all out here.

DIRECT AND INDIRECT INTERROGATIVES: the TT Words
As Latin students, you are familiar with the Q words (quis, quid, qualis, quantus) that are
used to ask questions. In Greek, many of these interrogative words begin with the letter TT
as you can see below. Now that you are students of both Latin and Greek, you will literally
have to always mind your TT’s and Q's! The indirect interrogatives are obviously similar to
the direct interrogatives and in most cases, the indirect forms simply add an omicron to the
front of the form. The indirect interrogatives can also be used as indefinite relative
pronouns and adjectives which adds a generalizing feel to them (i.e. "whoever,"
"whatever," k.T.A.). As a general rule, the direct interrogative forms become indefinite
when written as enclitics. So, WTe is a direct interrogative meaning "when" and it
introduces a question, while ToTé is indefinite and means "at some time, ever." ToU means
"where" and Trou means "somewhere." s means "how" and Tweos means "somehow, in
some way." 1ol means "whither, to where" and o1 means "to some place." mwé6ev means
"from where" while To6¢év means "from somewhere." k. T.A.
Here is the list of basic direct and indirect interrogatives:

DIRECT INTERROGATIVES INDIRECT INTERROGATIVES

Tis, Ti who? what? doTis, 1Tis, &1t whoever, whatever; who, what
Té0ev whence? from where? omo0ev from wherever; from where

Trolos, Toia, TToiov of what sort?  omoios, a, ov of whatever sort; of what sort

To00s, 1, ov how much/many? omdoogs, n, ov however much/many; how much/many

moéTEPOS, a, ov which (of two)? omdTEPOS, a, ov whichever (of two); which (of two)
1ol to where? whither? émol to wherever; to where
méTe  when? omdTe whenever, when
moU  where? 6mou wherever; where
TS  how? Omews however, how
INDIRECT QUESTIONS

Indirect questions are generally quite straightforward in Greek and occur when a question
is reported and embedded in a larger sentence. The indirect question is usually introduced
by an indirect interrogative and the clause itself simply has a finite verb (and Latin fans
should note that Greek does NOT automatically flip the verb in the indirect question into
the subjunctive--see next paragraph for details on how Greek handles this). Sometimes the
indirect question is introduced by other words such as i and indirect alternative questions
are introduced by éTepov... 1, eiTe...€iTe, and ei...e{Te. When introducing an indirect
question, the interrogative pronoun Tis, Ti is usually transformed into the corresponding
form of doTis, fjTis, & Ti (see their forms below), although sometimes the charming Greeks
simply retain the direct interrogative forms of Tis, Ti. It won't provide any difficulties for
you as long as you remember to expect either form to be the introductory word for an
indirect question. Any negative used in the direct questions are retained in the indirect
questions.

The mood of the verb in the indirect question depends on the tense of the main
verb and follows the same rules we saw with indirect statement (the type with Aéyco
@s/8Tt + conjugated verb). When the main verb is in a primary tense, then the original
mood and tense of the direct question remain unchanged. When the verb is in a secondary
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tense, then the mood commonly flips into the optative (as is common in secondary
sequence) but the original mood and tense can on occasion be retained (a retained
indicative or subjunctive). If the direct question had a past tense of the indicative with &v,
that does not change in the indirect question regardless of the tense of the main verb. See
Smyth 2663-2679 for more details on the indirect question, the indirect alternative
question and the use of moods in these clauses.

Here are a few simple examples:

Tis Aéyel Tadta; Who says these things? (original direct question)

EPWTE S0Tis Aéyel TaUta. I am asking who says these things.
--indirect question with Tis changed to 6oTig as is normal)

gpcdtnoa éoTis Aéyol taita I asked who was saying these things.

--indirect question with verb in the optative because the main verb is in a secondary tense.
Note that the original present tense of the original question is retained even as the mood is
changed to optative).

gpcotnoa doTis Aéyel tauta. I asked who was saying these things.

--indirect question in secondary sequence with retained indicative. The retained indicative
adds some untranslatable extra vividness and so when you encounter it, don't alter your
translation be aware of and enjoy the nuance of extra vividness that this construction is
conveying. This would be a good time to look out the nearest window into the sky and say
aloud illa lingua graeca!!! Tt is important to take the time to appreciate the charms of
Greek grammar as I may have said a few times during class...

INDEFINITE RELATIVE PRONOUNS
This charmer is simply a combination of the relative pronoun &g, 1}, & and the indefinite
pronoun Tig, Tt. Each part declines normally and they are written together as a single
word! quam gelidum! The accents are simple once you notice that they are done exactly
like those of ordinary relative pronouns and the forms of Tis, Tt never receive any accents
(except on the alternate forms). I have put the forms below partly because of the multiple
alternate forms which deserve close attention as they are common and not always obvious.
The singular alternate forms fittingly use the singular alternate forms of Tig, Tt (see Day 5,
pp- 28-29) and so they are certainly not randomly formed. The gen. and dat. plural
alternate forms have very recognizable endings. The neuter plural nom./acc. alternate
forms are a bit tricky as they are not as predictable or recognizable as the others. The
alternate forms are more common in verse than in prose.

The meaning of doTis, fiTis, 6 Tt is "whoever, whatever, anyone who, anything which"
and as mentioned above, these forms are also used to introduce indirect questions in

Greek.

Masculine Feminine Neuter
Nom. sg. 6oTIS NTIS o Tl
Gen. ouTivos (&tou) HOTIVOS ouTvos (8tou)
Dat. T (8Tw) Tl T (8Tw)
Acc. SvTIva HVTIva oTl
Nom. pl. OlTIVES alTiveg dtva (&tta)
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Gen. ovTvwy (&Twv) VTIVWV ovTvwy (&Twv)
Dat. otoTiol(v) (&tors)  aloTtioi(v) otoTiol(v) (&tors)
Acc. ovoTIvag doTvag dtva (&tta)

Note: the neuter nom./acc. singular form & T1 is written in most texts as two separate
words to distinguish it from the conjunction &1 (that, because).

IRREGULAR COMPARATIVES AND SUPERLATIVES
See pp. 43-44 above for ways of forming and using ordinary comparatives and
superlatives. There are a number of common irregular comparative and superlative
adjectives and most of them use the -1cov, -1ov endings (see p. 44 above for the paradigm)
for the comparative and the -1oTos, n, ov endings for the superlative.

The common (positive-degree) adjective &y aBds, 1), év has three irregular comparative
and superlative adjectives and they have different connotations:

better best

Aaueivaov, &uelvov &ploTOS, 1), OV (in ability or bravery)
BeATicov, BéATiov  BéATiOTOS, N, OV (in morals)
KPEITTCWOV, KPEITTOV  KPATIOTOS, T}, OV (in strength)

The common (positive-degree) adjective kakds, n, ov ("bad,evil, cowardly") has two
irregular comparative and superlative adjectives and they also have some differences in
how they are used:

worse worst
Kakicov, KAKIoV KAKIOTOS, 1, ov  (in morals or courage)
XEelpwov, xeipov XelproTos, n, ov (in morals or ability)

There 1s another common irregular comparative and superlative adjective related to the
positive-degree adjective kakds, 1, ov:

HTTwv, 1)TToV inferior, less, weaker 1KIOTOS, N, ov least

Note: this also shows up commonly as an adverbial accusative (fikioTa) meaning "by no
means" or "at least."

Here are several more adjectives which have irregular comparatives and superlatives that
use these same combinations of endings:

POSITIVE COMPARATIVE SUPERLATIVE
KaAds, 1, ov kaAAiwv, k&dAAov kK&AAloTOS, 1, OV
Héyas, uey dAn, uéya peiCeov, ueilov HEY10TOS, 1), OV
OAiyos, 1, ov ¢EANGTTWY, EAaTTOV ¢AdxioTos, i, ov
TTOAUs, TTOAAT, TTOAU TAeicov/TTAécov, TTAeTov/TTAéoV TAElOTOS, 1, OV
padios, a, ov pawV, paov pP&oTOS, 1), OV
Taxys, Taxela, Taxy BaTTv, 6aTToOV T&XI0TOS, 1), OV

Note: the comparative TAeicov, TAeTov has an alternative set of forms where €t is
replaced by €. These two sets of forms are otherwise formed identically.

Note on Comparative and Superlative Adverbs: adverbs related to these
adjectives derive their comparative forms as usual from the neuter acc. singular of the
comparative adjective and get their superlative adverbs from the neuter acc. plural of the
superlative adjective. Here are a few examples:
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ADVERBS WITH THREE DEGREES OF SEPARATION...

POSITIVE COMPARATIVE SUPERLATIVE
aAn6cos aAnbéotepov dAnbéotata
Nndéws ndov ndloTa

KaKGS KAKIOV KAKIOTQ

padicws paov paoTa

RESULT CLAUSES
There are two types of result clauses: natural and actual. They are both introduced by
¢doTe and the natural result clause takes the infinitive (and is negated by urj) while the
actual result clause takes the indicative (and is negated by oU). This makes sense in that the
actual result clause is for things that actually happen(ed) and so the indicative mood is
appropriate as it is usually used to indicate what is, was, or will be the case. Remember
that you indicate with the indicative. The natural result clause describes a general or
natural tendency for something to happen and so doesn't get expressed with the rather
tangible and concrete indicative mood.

6 ZcokpdTns elTre ToAA& dyaba chbote 6 TTA& TV T& kaAd BiRAia Tepi ToUTwov TV
id¢cov Eypawev. (Actual Result Clause for actual tangible result and so takes indicative)
Socrates said many good things with the result that Plato wrote beautiful books about
those ideas.

6 ZwkpA&Tns elTre TOAA& XaAeTd COOTE TOUs TTOAITAS AUTOV TIUAV.
Socrates said many difficult things with the result that the citizens did not (tend to) honor
him. (Natural Result Clause for a general tendency or something that tended to happen).

CONDITIONALS
As Latin students, you are already familiar with the idea of conditionals and so I won't
describe them in detail. There are 6 common conditionals in Greek and I like to group
them into 3 friendly groups of two. Think of them like 3 families living on the same street
(very near the Grammar Café). There are the Vivids (More and Less), the Generals
(Present and Past) and the Contrarians (Present and Past). Here is how they are formed
and traditionally rendered:

Protasis Apodosis Translation
Future More Vivid = é&v + subjunctive future indicative if...does/ will do
Future Less Vivid el + optative optative + &v if...should/ would do
Present General €av + subjunctive present indicative if...does/ does
Past General el + optative imperfect indicative  if...did/ did

Present Contrafactual ei + imperfect indic. imperfect indic. + &v if...were/ would
Past Contrafactual el + aorist indicative aorist indicative + &v if..had/ would have

Observations: some of these conditionals above obviously have the same protasis and so
it is important to note the apodosis in such instances so as to correctly identify and
translate it. It is important to memorize these traditional translation formulae as they are
not necessarily all that intuitive.
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Contrafactual Note: the contrary-to-fact conditionals use only indicative even though
they are speaking of actions that are not or were not possible. This use of the indicative
mood is a bit surprising especially considering that Latin uses the subjunctive for
contrafactual conditionals. Note that the contrafactuals (aka contrary-to-fact conditionals
or the "unreal conditionals") are the only conditionals above that use only indicative forms.
The particle &v is very important as its presence distinguishes a contrafactual conditional
from a so-called simple conditional (one that just uses simple tenses of the indicative and
has no special translation formula). In case you are wondering, &v is indeed the very same
particle that you see used to make an optative express potential, or should we say,
potavtial (patent-pending mnemonic!).

Fun Fact: the past contrafactual conditional is an instance where you would expect
Greek to use the pluperfect given the translation formula but they choose the aorist instead
(as they do in other instances as well). This is one reason you don't see the pluperfect in
Greek nearly as much as you do in Latin.

Note on Mood and Tense: the tense of the subjunctive or optative in these
conditionals only indicates aspect (repeated or simple) and it does not otherwise make any
substantive difference. The tense of the indicative is much more important as this is the
only thing that distinguishes the present from the past contrafactuals or the future more
vivids from the present generals.

Note on Ways to Say If: Greek obviously has several ways to say "if"" and it is
important to be familiar with them as they can be helpful with moods. é&v only appears
with the subjunctive mood and it is important to know that this charming word can be
spelled in several ways: €&v, fjv, &v (with a long alpha--this distinguishes it from the
particle &v which has a short alpha). This is because €&v is really a contraction of €i &v
and the other spellings seem to reflect different ways to contract those vowels. &i is much
easier (no other ways to spell it) and is used only with the indicative and the optative.
Would you want Greek to have fewer ways to say "if'? No! As if!?

Lyrics from Dachshund Fiddler on the Woof: IfI were a dachshund, I would
wag my tail and walk around and always have my way...(always playing at the Grammar

Café).

MI Verbs
"These are some of pi favorite verbs in Greek" --famous Greek pirate whose favorite
particle was obviously yé&p...

This is a very charming and small but important and common group of verbs whose first
principal part ends in -t instead of the usual -cd. You may have noticed that we haven't
talked about conjugations in Greek and that is because the vast majority of verbs are in the
so-called omega class and have -w as the first-singular active ending in several tenses. We
have focused on that whole class of verbs because that is the most common type of verb
you will encounter out there on the Greek streets. The only other class of verbs that could
be called a "conjugation" are the verbs ending in -pi. There are a handful of irregular
verbs ending in -ut and they have given this class of verbs a somewhat fierce reputation.
There are also so-called "regular -p verbs" like Seikvupt which have much more consistent
endings and can easily be mastered. The common but small group of irregular -p1 verbs
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are essential to know if you want to continue with Greek as they are used so frequently.
You can find a handful of - verbs in just the first page or two of the Iliad, for instance.

The world of the irregular -t verbs is complex and requires an unusual amount of
memorization but they do have certain recurring similarities among themselves and they
do almost seem a world unto themselves. Certain linguistic rules we have been following
are inconsistently applied in this world (such as dropping the intervocalic sigma which
sometimes happens with -ut verbs but sometimes does not). Part of what makes these verbs
challenging is that they generally have two stems, a long-vowel stem and a short-vowel
stem. You will be happy to learn that the short-vowel stem is used in most forms but the
long-vowel stem is present in some common forms and so you need to know both.
Furthermore, these verbs are mostly athematic and so they lack that helpful theme vowel
/0 between the stem and ending. In a few instances, the generally athematic forms will
temporarily "go thematic" for a few forms and then come back to their athematic senses, as
it were. So, there is some inconsistency in how these verbs are formed and so you really
need to spend some time with them.

Silver Lining: several of the tenses for these charmers are entirely normal and
conjugated like normal -co class verbs. For instance, the future of Tifnui is 8o (note the
common long-vowel stem 6n-) and it is conjugated just like AUcw. So, the difficulties with
the -1 verbs are contained to certain tenses. Generally the present, imperfect, and aorist
indicative forms are challenging and have some unexpected linguistic twists and turns. The
futures and perfects are generally quite straightforward (although the perfect of toTnut has
a few interesting surprises in store for you!).

How to Master the M| Verbs: As with the contract verbs, you really have a choice
about whether you want to learn all the linguistic details and reasons for why the forms
look the way they do. In many cases, it is easier for most students simply to memorize the
irregular forms and then move on. You will see this small but fierce and common class of
verbs all the time and so the forms will eventually sink in, trust me! In what follows, you
will get a sense for why these verbs have been called fierce and headstrong (they are the
rebels on the Greek streets but really quite friendly once you get to know them).

The Good News is the Bad News: you will see these verbs a lot (both in their simple
forms and in multiple compound versions) and so that will seem challenging at first but
after a while the repetition will help you master this group of slightly unruly verbs.

We will briefly survey the following four famously charming - verbs:
Sidcopt, Boow, Edwka, deEdwoka, dédopal, EdOBNV give, offer, grant, assign

TiOnw, Brjow, €Bnka, Tébnka, TéBepa, ETEBNV, put, place, set

{oTnui, oTriow, éotnoa (trans.) OR éotny (intrans.), éoTnka, éoTapat, éoTddnv make
stand, set up, appoint, bring to a standstill, check; intrans. and mid. stand, stand still, halt
Note: the first three principal parts for {oTnut are transitive (and so take a direct object)
and the last three are intransitive. There are two aorists and one is transitive (fotnoa) and

the other is not (oTnv).

e <r T k¢ T x4
N1, -Now, -NKa, -eika, -elpal, -eibnv, release, hurl, send
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Note: the hyphens indicate that all forms outside of the present system appear only in
compound verbs.

PRESENT ACTIVE INDICATIVE ENDINGS for Ml Verbs

endings Sidcwom TiOnu fornut inut
Isg -w Sidcout TiONU loTnut imui
2 -S didcos TiOns loTns ins/1els
3 -o1(v) didwoi(v) TiBnoi(v) {otnoi(v) inoi(v)
Ipl.  -pev Sidouev TiBepev loTapev VEpEY
-TE didoTe TiBeTe loTaTe leTe
3 -aci(v) d1ddaoi(v) TI0éao1(v) iotaoci(v) iaoi(v)
Infinitive: -vat di1dévat TIBévat loTaval 1évai

Accenting Note: as always in Greek, the syllable before -vaut is accented. Fun fact! That
explains why all those perfect active and aorist passive infinitives have that accent:
AeAukévan, Aubfival, K.T.A.

Long and Short Stems: as you can see in these present forms above, there is a clear
difference between the long vowel stems (818co-, Ti01-, i0Tn-, in-) and the short vowel
stems (8180-, T1Be, ioTa-, ie-). The singular forms use the long vowel stems while the
plurals use the long vowel stems. This is not particularly difficult but that sort of change of
stem within the same tense has given the -ut verbs their somewhat fierce reputation...

Familiar Forms Note: there are some similarities with the more familiar and friendly -
w class verbs. As almost always, -pev and -Te are your friends and consistently present.
You have seen -ao1(v) as a 3rd plural ending although admittedly it was in the perfect
active and not the present. The sigma is a perfectly reasonable ending for 2nd person
singular (think S for second person!).

Thematic Note: in a vintage -ui verb move, the 3rd plural forms for ioTnu and inw
display contractions of the stem and endings while those of i8cout and TiBnut do not.
Those forms are for whatever reason thematic and so the short vowel in the stem contracts
with the endings, hence the different accents on those forms (cf. contract verbs). You can
see something similar with the alternative 2nd singular form of Tnuu. It is somewhat
surprisingly thematic and has a contraction of the short vowel stem ie- and the theme
vowel g, hence the ending -€ls (with the circumflex commemorating the site of the collision
of vowels just as we saw with contract verbs). It is particularly surprising that this form
uses the short-vowel stem ie- as the singulars in the present otherwise use the long-vowel
stem. These kinds of quirky inconsistencies which give -t verbs that reputation I
mentioned above. I think you can see that it is probably easier just to memorize the
present tenses and not worry too much about why the forms look the way they do!

IMPERFECT ACTIVE INDICATIVES

Sidcout TiONU loTnut inut
1 sg. £didouv ETiONV loTtnv inv
2 £didousg ¢TiBerig lons Te1s
3 £didou ETiOel lotn (3
1 pl. £8{Sopev ETiBepev loTapev {EpEV
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2 ¢didoTe gTiBeTe loTtaTe leTe
3 3

¢didoocav ¢TiBecav {oTtaocav lecav

Note: despite the fact that -pt verbs are generally classified as athematic verbs, we have
here again some unexpected thematic forms: all 3 singular forms from didcout as well as
the 2nd and 3rd singulars of both Tifnu and nu.

Note: only {otnui here follows the "rule" that the long vowel stem is to be used through
the singular imperfect active indicative forms. In other instances where there are thematic
forms as noted above, the contractions are in fact using the short-vowel stem (and so that
"rule" has almost as many exception as faithful adherents!).

Note: the long-vowel stem for -pt verbs is only found in the singulars of the present and
imperfect active indicative and you will notice that everywhere else they use the short-
vowel stem. They clearly prefer the short-vowel stem as it even seeps into the world of the
present/imperfect act. indicatives (as seen above). Of course, as these are - verbs, there
are exceptions to this rule and the root aorist €oTnv is one (as we will see below).

Note: when a verb begins with iota, that iota gets lengthened in past tenses and is
pronounced differently but the spelling will be the same (as a lengthened iota is just a long
iota). You must be careful particularly with verbs like toTnut and inut where the iota at the
front of the stem will not look different when augmented.

In the case of {otnui, the 2nd singular and the first and second plural have the same
endings in the present and imperfect active indicative. They then only differ by the
quantity of the initial iota (a difference that can only be heard and not seen). You will
have use context to determine which tense you have with these forms: ioTns, {oTapev,
(oTaTe.

inut is a bit tougher in that the initial iota is already long in the present stem and so there is
no more lengthening to be done. This means that the first and second plural present and
imperfect active indicatives are identical for this verb and can only be distinguished by
context: Teyev, (eTe.

AORIST ACTIVE INDICATIVES

Sidcout TiONU loTnut loTnu inut
1 sg. €dcoka gbnka gotnoa gotnv -fiKka

b4 w b4 3 3 _?‘Ka
2 €dcokas €bnkas gotnoas €oTtns il
3 €dcoke(v) g0nke(v) gotnoe(v) éoTtn -Nike(v)
1 pl. gdouev €0epev goTNoauey  EOTNUEV -glpev

P

g€doTe €0eTe EOTHOQTE goTnTe -glTe
3 g¢dooav g€becav gotnoav gotnoav -eloav
Aor Act. Infin: SoUvai Belvai oTfioal oTfhjval -elvat

Aorist Stem Alert: di8cou and TiBnut lose their reduplicated stems in the aorist tense.
Disappearing Kappa Alert: there is a kappa in the singulars but NOT in the plurals

of didcopt, TiBNL, and inui. The presence of the kappa can be a bit confusing since you
expect the presence of a kappa to indicate the perfect tense and not the aorist as it does
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here. The fact that the odd kappa disappears in the plurals just makes me look out the
window and say aloud: illa lingua graeca!

Two Aorist Alert: there are two aorists for {oTnui, one a regular first aorist
(conjugated exactly like the aorist of AUw), and the other a special and charming type of
athematic aorist known as a root aorist where the stem vowel is long through the singular
and plural. Some textbooks and grammars call this a 2nd aorist even though it has little in
common with the 2nd aorist we learned a while back. See below for a few more root
aorists.

Dashing Note: as you may recall, the dash indicates that those aorist forms of inut only
appear in compound verbs.

There is more we could say about the tenses we have seen so far but I think you can
already get a sense of why some people cross the linguistic street when they see a -ju verb
approaching on Translation Street. Don't be intimidated by the - verbs, though, as you
will see them a lot in Greek and the admittedly quirky forms will sink in if you give them
appropriate time and consideration.

Silver Lining Alert: The Middle-Passive forms for these verbs are MUCH easier!

PRESENT MIDDLE-PASSIVE INDICATIVE
The middle-passive forms for the present, imperfect, and aorist indicative are not nearly as
tricky as the active forms above. The short vowel stems are used throughout the middle-
passive forms for these verbs: d180-, T1Be-, ioTa-, ie-. There are a few unexpected forms
such as the 2nd singular present mid-pass. forms below which do NOT drop the
intervocalic sigma as we have seen so many times elsewhere. Greek here gets to keep its
original 2nd singular primary mid-pass. ending -oat and there are no contractions or
dropped letters here.

PRESENT MIDDLE-PASSIVE -MI VERB INDICATIVES

Sidcout TiONU loTnut inut
1 sg. Sidouat TiBepat loTapal Tepat
2 didoocal TiBecal {oTaoal lecal
3 didoTal TiBeTal loTaTal leTal
1 pl. 3186ueba T10épeba loTaueba 1épeba
didoobe TiBeobe {otaobe {eoBe
3 SidovTal TiBevTal {oTavTal levTal
Infinitive: didocbal TiBeobai lotacbal tecBal

As you can see, those forms are pretty straightforward. You just add -pai, -cat, -tat, -
ueba, -ofe, -vtaui to the short-vowel version of the stems (which makes sense since there
are generally no theme vowels present in -t verbs--with some notable exceptions as we
saw above). You may recall that the original 2nd personal mid-pass. ending with the
theme vowel was -ecat and the intervocalic sigma dropped leaving us with a contracted
ending of -e1/-1). Here we don't have the theme vowel € before the ending and even
though there is a vowel at the end of the short-vowel stem for all four -1 verbs here, for
some reason the intervocalic sigma decides to stay and not drop out. quam gelidum!
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IMPERFECT MIDDLE-PASSIVE INDICATIVE
It may be helpful to contrast the regular thematic endings (i.e. theme vowel + endings) we
saw in the - class verbs (used in imperfect and 2nd aorist) with the charming athematic
endings (i.e. endings without a theme vowel) from our new friends the -p1 verbs.

Thematic Endings
1 sg. -ounv
2 -ou
3 -€TO
1 pl. -oueba
2 -eo0e
3

-OvVTO

Athematic Endings
-uny

-00

-To

-ueba
-00¢
-VTO

Intervocalic Sigma Note: recall that the original 2nd sing. mid-pass. thematic ending
was -eco but after the intervocalic sigma dropped and eo contracted, they ended up with
ov (a contraction you now recognize as also happening in the epsilon contract verbs). You
may not be surprised to learn that the intervocalic sigma does NOT drop in the imperfect
middle-passive indicative forms below.

Sidcout TiONU loTnut inut
1 sg. £d186unv ETIO¢UNV loTaunv €NV
2 ¢didooo ¢TiBeco {otaoco {eco
3 ¢didoTo ¢TiBeTO loTaTo {eTo
1 pl. £5186ueba ET10épeba loT&ueba 1épeba
2 ¢didoobe ¢TiBecbe {otaoBe {eoBe
3 ¢didovTo ¢TiBevTo {oTavTo levTto

Note: all four verbs consistently use the short-vowel stems in these forms. Remember that
an initial iota only augments by lengthening and so it looks the same as an unaugmented
one but would have been pronounced differently.

AORIST MIDDLE INDICATIVE
You will probably be sad to learn that the aorist middle indicative is only present for three
of the -t verbs we are focusing on. There is no extant aorist middle indicative for iotnut. I

imagine you won't miss it as there are a few other forms to contend with!

AORIST MIDDLE INDICATIVE of &idcout, TiBunut, nut

Sidcout TiONU
1 sg. £déunv g0¢unV
2 £€5ou ¢€0ou
3 £doTo g€0eTo
1 pl £86ueba £0épeba
2 £€5000¢ €0eobe
3 £€SovTo g0evTo
Infinitive: dbcbal Béocbai

imui
-glunv
-gloo
k¢
-giTo

-e{ueba
k4
-elobe
-glvTo
-€o0bai
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Note: the intervocalic sigma drops in two of the three 2nd singular forms above. The
resulting contractions of the vowels give you €dou and €Bov. Intriguingly, {eco retains the
intervocalic sigma as often happens in -1 verb land.

FORMING PARTICIPLES for -MI VERBS
This is not difficult to do and you will use the short-vowel stem and add mostly the
endings for a regular participle (minus the usual omicron you see in present, future and
2nd aorist - class verbs). The nom. singulars (particularly the masculine) look a bit
quirky but just roll with it and rest assured that they are mostly quite easy to form.

Here is the present active for 8i®cout (and for the aorist active, you just take off the
reduplication and so it would be 8ovs, dotoa, Sdv).

M F N
Nom. sg. S1dovus Sidovoa S1d6v
Gen. d1ddvTOoS didovons di1dbévTog
Dat. d1doévTi didovorm d1doévTi
Acc. diddévTa didoloav d1d6v
Nom. pl. B106vTES Sidovoail di1ddévTa
Gen. d1ddvTwWV di1doucdov d1ddvTwWV
Dat. d18oUoi(v) Sidovoaig d18oUo1(v)
Acc. diddvTag didovoasg diddévTa

The middle-passive present participle just combines the short-vowel stem d180- and the
regular endings -pevos, -pévn, -pevov and declines just like &y abds, 1}, év. The aorist
middle just drops the reduplication on the stem and so is déuevos, dopévn, dduevov.

Here is the present active participle of Tifnw (and for the aorist active, you just take off the
reduplication and so it would be Beis, Beloa, Bv).

M F N
Nom. sg. T10els TIBeToa T1Bév
Gen. TiBévTog TiBeions TI0évToOS
Dat. TI6évTI T16elon TI6évTI
Acc. TIBévTa TiBetoav TiI0év
Nom. pl. TI0€vTES TiBeToat TIBévTa
Gen. TIBévTCov TiBe1oGOV TIBévTCov
Dat. T10eto1(v) TiBeiocailg T10eio1(v)
Acc. TI0évTag TiBeioag TIOévTa

The middle-passive present participle just combines the short-vowel stem T18e- and the
regular endings -pevos, -pévn, -pevov and declines just like &y aBds, 1}, év. The aorist
middle just drops the reduplication on the stem and so is Bépevos, 6éuévn, 6épevov.

SERIOUS BONUS: tnu forms its present and 2nd aorist participle exactly like that of
TiBnut: iels, ieloa, 1év and so there is no need to write out the forms!

Here is the present active participle of toTnui (and for the aorist active, you just take off
the reduplication and so it would be oTd&s, oT&oa, oTAGV).
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M F N

Nom. sg. Tongely loTaoa loTav
Gen. loTdvTos loTdons loTAvTOS
Dat. loTavTl loTaorn loTavTl
Acc. loTavTa loTdoav loTav
Nom. pl. I0TAVTES loTaoat loTavTa
Gen. loTAV TV loTaoV loTAVv TV
Dat. iotaoi(v) loTdoals iotaoi(v)
Acc. loTavrag loTaoag loTavta

The middle-passive present participle just combines the short-vowel stem ioTta- and the
regular endings -pevos, -pévn, -pevov and declines just like &y abds, 1, év. There is no
aorist middle for this verb.

ANOTHER IRREGULAR M| VERB: GO, GREEK, GO!
Here is the present system for the irregular verb efut "go, come." It is irregular and lives in
its own world but has similarities to the other -u1 verbs we have looked at. Note the
alternate forms in the imperfect. Be sure not to confuse this verb with eiui "be, exist."
Fun Game: well, you know...(compare the forms of eiui and efur). That's the whole
game!
Note: the subjunctive and optative forms are quite easy (cf. eo, ire)

PRESENT Indic IMPERFECT SUBJ. OPT.
1 sg. el na/ e (&) fol
2 el nelcba/ fels ins folg
3 elow(v) few/ fet in [(e]!
1 pl. iuev TUEV {copey {oluev
iTe nTE inTe foite
3 {aoi(v) fjoav/ fecav {coi(v) folev
Infinitive: iEvai
Participle: v, lovoa, iov

Present Imperative for elpt: 2nd sing. 16t 3rd sing. iTeo 2nd pl. ite 3rd pl. idvTeov
Compare the imper. for eipi: 2nd sing. {061 3rd sg. éote 2nd pl. éote 3rd pl. éoTwv
Extra Fun Form to Watch out For: {061 is also the singular imperative for oida...

PRESENT SYSTEM OF 8eikvup (a "regular” -pu verb!)
This is the present and imperfect of one of the so-called regular -p1 verbs that use many of
the same endings as the more fierce verbs above but are considerably more regularized as
you can see below. The present subjunctive and optative are entirely straightforward and
just add the same endings as you saw with AU with Seikvu- as the stem (no need to even
write those out!).

PRESENT ACTIVE PRESENT MIDDLE-PASSIVE
1 sg. Seikvup Seikvupal
2 deikvus deikvuoal
3 Seikvuoi(v) SeikvuTtal

73



1 pl. Seikvupev Setkvupeba

2 deikvuTe deikvuobe

3 deikvuaot(v) SeikvuvTal
Infinitive: delkvivai SeikvucBai
participle deikvus, deikvioa, detkviv SEIKVUUEVOS, ), OV

IMPERFECT INDICATIVE OF &eikvupu
IMPERFECT ACTIVE IMPERFECT MIDDLE-PASSIVE

Isg. €deikvuv EQEIKVULNV

2 £deikvug £deikvuoo

3 £deikvy ¢SeikvuTo

1 pl. €deikvupev £deikvipeba
¢8eikvuTe £8eikvuobe

3 ¢deikvuoav ¢SeikvuvTo

Note: this is what it looks like when -ut verbs behave and there are a number of verbs that
conjugate exactly like 8eikvupi and I think you will probably rejoice when you see them!

Note: the endings in the present are quite similar to the other -p1 verbs we have seen and
note that the intervocalic sigma does not drop in the imperfect middle-passive 2nd sing.

Note: the present active participle uses the same basic endings you are familiar with but
there is no theme vowel (this is still a -1 verb after all) and so the -vtos, -vTl, -vTQ, -vTes,
-VTwWV, -01, -vTags endings get attached directly to the stem deikvu-.

PRESENT SYSTEM OF opnui
While we are discussing -t verbs, you may as well get a chance to see the present and
imperfect active indicative forms of the common verb gnui (say, think) which is very often
used to introduce introduce indirect statement with accus./infinitive (like vouiCeo).
Interestingly there are only active forms for this verb and additionally the present
indicative is enclitic except for the 2nd singular (just like eipi "be").

Present Indicative Imperfect Indicative Subjunctive  Optative Imperative
Isg. onui Epnv PwD painv
2 1S Epns/ Epnoba ofis paing &b
3 pnoi(v) oly foly pain PATW
Ipl.  oqauév Epapey PCOUEV PaTUEV

paTé EpaTe P TE painTe  QAaTE
3 paci(v) Epaocav p&oI(v) Paiey  QAVTWV

Infinitive pavat

Participle: pa&s, paoa, pav (cf. declined like was, m&oa, wav and the participles for the -
ut verbs such as fotnui: Nom. Sing. ioTds, ioTdoa, ioTdv)

Note: the plural present optatives have the following alternate forms: painuev, painTe,
painoav.

ROOT AORIST INDICATIVE for Baivew and y1yvaokw
There are other root aorists scattered throughout the Greek verb landscape and a few
occur in common verbs like Baiveo "walk, step, go on" and y1yvcdokew "come to know"
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Root Aorist of Baived Root Aorist of yryvaokw

Isg. EBnv Eyvwv

2 EPns Eyves

3 €Bn Eyvo

I pl.  EBnuev EYVWUEY
2 gBnTe EYVwTE

3 gBnoav gyvwoav
Infin: BRval Yvéval

OMICRON CONTRACT VERBS!
As promised, here is the present system for the third and final type of contract verbs. As
with any contract verbs, there are two ways to learn them. You can memorize the rules for
contraction or you can just memorize a sample omicron contract verb like 8nAdc ("make
clear, show, reveal") and feel confident that all other omicron contracts will be done
exactly the same way! In the case of alpha and epsilon contract verbs, I recommend
learning the contraction rules since they are not numerous and it is obviously ideal to know
both the rules and a sample for each type of verb. The contraction rules for omicron
contract verbs are not any more difficult than those for alpha and epsilon contracts but
students typically find the omicron verbs a bit more difficult. Partly this is because many of
the contracted endings end up similar (-ot shows up fairly often) and partly this is due to
the fact that omicron contracts have three common types of contraction whereas the other
types only use two. This can make omicron contracts seem a bit trickier at first but they
are really quite friendly once you see them for a while. For now, I would recommend
memorizing a sample verb such as 3nAdw and don't worry too much about the
contraction rules (unless you want to run down that exciting linguistic path!). As always,
once you know one sample contract verb, you know all the others of that type too!

ACCENTING NOTE: As with other contract verbs, the accenting is based on the
uncontracted forms and so if the accent happens to land on one of the colliding vowels or
diphthongs, then that collision is commemorated with a circumflex when you write the
contracted forms. If the accent manages to skip past the site of contraction, then there is no
need for a circumflex and you will see an acute accent on the contracted form. I will put
the uncontracted forms in parentheses so you can see what they look like and how they
determine the accent in the contracted forms. For instance, 8nAoUTe has a circumflex in its
contracted form because the uncontract form is SnAdopev. The accent ends up on one of
the colliding vowels and so you commemorate the site of the collision with a circumflex
(unless a circumflex cannot go over such a syllable due to the quantity of the ultima). So,
you end up with a circumflex on the penult.

SERIOUS SILVER LINING: Remember that all contract verbs only contract in the
present system and they are otherwise very ordinary and predictable verbs. Remember also
that Homer and Herodotus just leave the verbs uncontracted which is really much easier as
you don't have to think about what happens to the accent when the vowels contract!

Contraction Rules for Omicron Contracts:
o +E€g 0,0U - ou
o+Mn, WM w
o + any diphthong with iota --->>> o1

75



PRESENT INDICATIVE for OMICRON CONTRACT VERB 8nAdw

ACTIVE MIDDLE-PASSIVE
1 sg. SnAd (BnAdw) SnAoUuai (dnAdouat)
2 dnAoTls (dnAdeis) SnAoi (dnAdel/n)
3 SdnAoi  (dnAdel) dnAoUTal (dnAdeTa)
1pl dnAotuev (dnAdouev) dnAovueba (SnAodueba)
2 dnAouTe (BnAdeTe) dnAotcbe (dnAdeche)
3 SnAotoi(v) (dnAdouci(v)) dnAotvTtal (dnAdovTal)
Infin: dnAotv dnAoucbal

Note: the original ending of the active infinitive was -gev and so the contraction is done
with that ending and that yields -ou. By the way, the change from -gev to -ewv gives us
what linguists amusingly call the "spurious diphthong" (because it was not originally there
and so in some way is false or not original).

IMPERFECT INDICATIVE for 3nAdw

Active Middle-Passive
1 sg. ¢d)Aouv (¢8rjAoov) ¢dnAovunv (dnAodunv)
2 ¢d)Aous (e8rjAoss) ¢dnAoU (¢dnAdovu)
3 ¢drjAou (¢drjAoe) ¢dnAolUTto (¢dnAdeTo)
1 pl. £dnAolUuev (8nAdouev) ¢dnAovueba (¢dnAodueba)
2 ednAoUTe (¢dnAdeTe) ¢dnAotUoBe (¢dnAdecbe)
3 ¢dr)Aouv (é81Aoov) ¢dnAolvto (¢dnAdovTo)

Note: the contractions are exactly the same here as they were for the present indicative
forms. Note again that when an accent on an uncontracted form happens to get past the
site of contraction, then you end up with an acute accent (e.g., 3rd pl. active). If the accent
ends up on the site of contraction (e.g., Ist and 2nd plural active), then you see a
circumflex on the contracted form.

Good News for Other Moods of Omicron Gontracts: The other moods follow
the exact same contraction rules and are easy to form. The present optative forms all
feature the same contraction -ot and the present subjunctive forms all have -c> with the
exception of the 2nd and 3rd person singular act. and the 2nd person mid-pass. which all
end up with -ot: SnAoTs, dnAot, and &nAol respectively. The participles are also quite easy
and follow these rules and because of the consistency of the endings in both active and
mid-pass., there are only a few contractions used throughout those paradigms as well. For
instance, the present middle-passive participle for omicron contracts only uses one
contraction -ou because all the forms have the same vowel (o) colliding with the omicron
at the end of the stem: dnAoUuevos, dnAouuévn, dnAovuevov.

NUMBERS!!!
The Greeks originally used letters to represent numbers (alpha was 1, beta was 2, K.T.A.).
As you can see below, the numbers 1-4 are declinable (but not all have all 3 genders) while
the other numbers are indeclinable and fixed.

1 €is, pia, €v (Gen. £€vds, wias, €vos, Dat. vi, ud, évi, Acc. €va, piav, £v)
2 Bvo (Gen. duoiv, Dat. uoiv, Acc. dUo) (same for all 3 genders)
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3 tpels, Tpia (Gen. Tpi&dv, Dat. Tpioi(v), Acc. Tpeis, Tpia)

4 téttapes, TétTapa (Gen. TeTTdpwov, Dat. Téttapoi(v), Acc. TéTTapas, TETTapa)
Note: the numbers 3 and 4 are two-termination but their forms only differ in the
nominative and accusative cases.

5 mrévTe

6 €€

7 emTa&

8 Okt

9 twéa

10 déka

11 évdeka

12 3codeka

13 Tpiokaideka

FINAL NOTE: omeG8e Bpadéws! (festina lente)--good advice for Greek students!
Thanks to all the students who have been patient (alpha)beta testers for Greek in 8 Days!
Remember that you have a lifetime subscription to the Greek and Latin Hotline! Please
also let me know if you have feedback about this textbook (typos, things to include,
requested readings in the workbook/reader, k.T.A.).
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